


REPORT DETAILS

Facility employees attending exit meeting:

4, Beacher, Technical Support

B. Brown, Operat.ons Training Supervisor

R. Dorman, Training and Emergency Preparedness Manager
S. Kitchens, Assistant General Manager - Support

R. LeGrand, Operations Manager

C. Meyer, Operations Superintendent

Examiners:

+L. Lawyer, Chief, Operator Licensing Section 1
*J. Moorman, Senior Examiner, Region II

G. Herris, Examiner, Region 11

T. Bardell, Examiner, Pacific Northwest Labs
A. Lopez, Examiner, Pacific Northwes®: Labs

+Attended exit meeting only
*Chief Examiner

Procedure problems noted during exams

Procedure 18003, Rod Control System Malfunction. The note
before steps Al18 and C20 contain actiong to be nerformed by
an operator. Accepted writing guidelinus for tais type of
procedure prohibits notes from containing action steps.

Procedure 18031-C, Loss of Class 1E Electrical Systems.

This procedure uces not address the fact that, under a
normal electrical plant line-up, a feed pump is lost when
either of the emergency busses is lost. Loss of a feed pump
with the plant at 100 percent power can cause a major plant
transient. Additional sceps in the procedure could provide
the operators with additicnal guidance to mitigate any
adverse consequeaces.

Procedure 14980, Diesel Generator Monthly Surveillance. The
surveillance requires a different line-up of the starting
air banks depending on which month the surveillance is run.
There are two starting air banks used. One bank is used
during the months of January, April, July and October and
the other bank is used during the months of February, May,
August, and November., Both banks are used duiring the
remaining months but the procedure does not specifically
state this. This caused some confusion among the operators
during the exams.



2
4. Knowledge deficiencies identified by the written examination

Results of the Senior Reactor Operator written examination
indicated that candidate knowledge wag weak in five areas.

a. The ability to recognize the cause of a "Rod
Deviation/Radial Tilt" alarm as asked in question 10 of
the examination.

b. The ability to recognize which reactor trip signel was
baged on the prevention of departure of nucleate
boiling as asked in guestion 26.

€. The ability to recognize response of the Nuclear
Service Cooling Water System to the loss of a pump as
asked in question 40,

d. The ability to reccognize plant response to the failure
of a pressurirer 'wv2l transmitter as asked in question
80‘

e. The ability to recognize the frequency of a continucus
fire watch as asked .n question 91.

$. Examination material pre-review

The written examination was reviewed at the Vogtle Training
Center November 25 - 26, 1991, by members of the Vogtle
trainini staff. All NRC and contractor personnel
responsible for development of the examination material were
present for the review. Thure were no post exam comments
concerning the written exan made by the Vogtle training
staff. The simulator exam: were validated at the Vogtle
gimulation facility November 25, 1991, by NRC examiners and
members of the Vogtle training staff. The thoroughness of
the exam review performed by the training and operations
staff and the cooperation and supvort provided to help
validate the operating tests . lded greatly to the validity
of all portions of the examination,

6. Exit Interview
At the conclusion of the gite visit, the examiners met with

representatives of the plant staff to discusse the results of
the examinations.

Ther? were no generic weaknesses noted during the exams.
However, two individual operators did exhibit weaknesses
during the simulator examination that, while very serious,
were not justification for failure of the examination.

There is no proprietary material contained in this report.

L



.. ENCLOSURE 2/R0
DRAF-EOPY

U. S. NUCLEAR REGULATORY COMMISSION
SITE SPECIFIC EXAMINATION
REACTOR OPERATOR LICENSE

REGION 2

CANDIDATE'S NAME: TWASTER - AS GIUEN

FACILITY: Vogtle 1 & 2
REACTOR TYPE: PMR-WECA
DLTE ADMINISTERED: 91/12/17

INSTRUCTIONS TO CANDIDATE:

Use the answer sheets provided to document your answers. Staple this cover
sheet on top of the answer sheets. Points for each question are indicated in
parentheses after the question. The passing grade requires a final grade of
at least 80%. Examination papers will be picked up four (4) hours after the
examination starts.

CANDIDATE 'S
TEST VALUE  __ SCORE *

U R A N . TOTALS
: FINAL GRADE

A1l work done on this examination is my own. 1 have neither given nor
received aid.

~ Candidate’s Signature

DRAFT COPY



REACTOR OPERATOR

QUESTION: 001
The following plant conditions exist:

- Unit 1

(1.00)

is at 80 percent power.

- Rod control selector is in Auto Rod.
- Control bank D is at 200 steps.
- T-avg is 2 degrees F BLLOW T-ref.

WHICH ONE (1) of the following describes the response of the rod control
system?

a. The control rods step IN at 8 steps per minute.

b. The control rods step OUT at £ steps per minute,

c. The control rods step IN at 36 steps per minut~,

d, The control rods step OUT at 36 steps per minute,

ANSWER: 001 (1.00)
b.
REFERENCE :
1. tO0-LP-27101-14-C, pp. 9, & 38, LO 9.
2. EQB HNUM 23688, Vogtle 1991-05-31, similar.
3. RO Only.
4. 001000K402 [3.8/3.8)]
001000K402 . (KA's)
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QUESTION: 002 (1.00)

WHICH ONE (1) of the following conditions will generate a Rod Control Urgent
Failure alarm?

a. One rod in control bank D dropping.
b. One rod control motor generator tr.pping.
" One rod group failing to move whe | demande

d. One +16.5 VDC power supply being interrupted to *he sliave cycler.

ANSWER: 002 (1.00)
C.
REFERENCE :
1. VEGP LO-LP-2710i-14-C, pp. 26, & 27.
. VEGP LO-LP-27102-09, pg. 9, 12, & 19, LO 6,

3. Both RO and SRO.
4. 0010501401 [3.4/3.8)

001050K401 . (KA's)

QUESTION: 07 .00)

WHICH ONE of the foilowing states the function of the Master Cycler in the
Rod Contr. .rive System?

a. Selects the group to be moved.
b. Controls the overlap of the control banks.
c. Generates sequence orders for the power cabinets,

d. Controls the rate at which the banks are stopped.
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ANSWER: 003 (1.00)
a.
REFERENCE :
1. YEGP LO-LP-27101-14-. pg. 37, LO 7.

2. RO “aly.
3. 00 . %67 (3.2/3.3]

0010006007 . (KA's)

QUESTION: 004 (1.00)

WHICH ONE (1) rf the following describes a feature of the Reactor Coolant Pump
Power supply ron-Class 1-E breaker?

a. It has no closure futerlock.

b. It provides input to the reactor protection system.

By It has an 86 lockout relay which 14 automatically reset.

d. I. is interliocked open when the oil 1ift pump pressure is less

thain 60, psig.

ANSWER: 004 (1.00)
d.
REFERENCE :

§f§f1t?’t§’%8§°é&$3 ggéoé?‘vgéilg 19810830,

1.

2.

3. Both RO ard SRO.

4. 003000K201 [3.1/3.1]

003000K201 o (KA's)
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REACTOR OPERATOR

QUESTION: 005 (1.00)

W e B L

Page 5

WHICH ONE (1) of the following actions should be performed if the No. 1 seal

leakoff to No. 1 Reactor Coolant Pump (RCP) increases to 5.9 gpm?
a. Increase pressure in the VCT to 30 psig.
b. Throttle scal injection for No. 1 RCP to 8 gpm.
£ Shut the No. 1 seal leakoff valve for No, 1 RCP.
d. Reduce RCS pressure to the range of 2220 and 2235 psig.

ANSWER: 005 (1.00)
REFERENCF :
1. VEGP LO-LP-16401-10 pg. 18

2, Both RO and SRO.
3. 000015A122 [4.1/4.2]

000015A122 ..(KA's)

QUESTION: 006 (1.00)

WHICH ONE (1) of the following describes the eventual result of VCIT

level

channel LC-112 failing HIGH? Assume all controls are in automatic, and NO

operator action is taken.

a. HIGh VCT level and isolation of makeup from the blender.

b. LOW VCT level ard loss of required NPSH to the charging pumps.

s HIGH VCT level and continuous makeup from the blender to the VCT.

d. LOW VCT level and auto swap over of charging pump suction to the

RWST.
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REFERENCE :
i VEGP LO-LP-080G0]-04 pt. 25, LO 7,
VEGP Text lu.asg. 5a-5,

2.
" Both RO and §
4. 004D20A3U3 [3.4/3.1)

004020A303 o (KA"S)

GQUESTION: 006 (1 00)
The following plant conditions exist:
< Unit 1 1s at 75 percent power,
< A xenot transient 1s in progress.
« Rod control 1s in Automatic.
« A1 systoms are operating as designed.
« ROD BANK LO LO LIMIT annunciator 1it.

WHICH ONE (1) of the following CVC  alves is positioned to correct the
apparent condition?

. Boric aci Yve FV-110A fully closed,
b, Emergency by ation valve KV-8104 open,
€. Solencid operated valve HV-8439 cleosed,

d. Reactor makeup water flow control valve FV-111A fully cpen.

ANSWER: 008 (1.00)
b.
PEFERENCE :

1. VEGP Text 5d, rev. 2, pg, 5d-33, Text 6a, rev.3, pg. 6a-28.
2, VEGP LO-LP-09001-04, pp, G, 12, & LO-TP-08001-002,

3. VEGP 17010-1, rev. 15, pg. 28,

4. VEGP 13009-1, rev. 8, pg. 10,

5. RO Only.

6. 004000A40] 13.8/3.9)

0040004401 o (KA's)
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QUESTION: 009 (1.00)

WHICH ONE (1) of the follewing conditiens will actuate safety injection 1f the
unit 1s in MODC 17

a. Two (2) channels of T-avg reading 540 degrees F.
b. ODne (1) steam 1ine has all channels reading 575 psig.

Two (2) channels of containment pressure reading 3.6 psig.

& o

Three (3) channels of pressurizer pressure reading 1875 psig.

ANSWER: 009 (1.00)
b.
REFERENCE :
1. VEGP LO-LP-28103-11-C, pp. 38, & 49,
VESP Text Ba, rev. 1, pp, Ba-72, & 73,

¥
3. Both RO and SRO.
4, 013000A30] [9.//3.9)

013000A30] . (KA's)

QUESTION: 010 (1.00)

WHICH ONE (1) of the following conditions is required prior to resetting
safety injection following an inadvertent actuation?

a. Containment Isolation Phase A must be reset,
b. Any ECCS pumps which ¢tartey must be stopped.
s Both reactor trip breakers and bypass breakers must be open.

d. Less than 60 cecunds must have elapsed since S1 was activated.
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QUESTION: 013 (. 00)
WHICH ONE (1) of vhe following will cause incoe thermocouples to read HIGH?

a, Broken junction weld at the detector,

b. Breakdown of thermocouple wire insulation.

-8 Short circuit between detector wires at the junction box.

d. gz:n circuit 1o the plant computer RTD in the reference junction

ANSWER: 013 (1.00)
d.
REFERENCE :
1. VEGP LO-LP-36102-04-C. pp. 14, 19, & 20, LO 7.

2. 017020A201 [3.1/3.5)
3. Both RO and SRO.

017020A201 o (KA's)

QUESTION: 014 (1.00)

WHICH ONE (1) of the following describes the response of the containment
cooling fans to an S1 signal?

a. A1l fans start in LOW speed after 30.5 seconds.
b. A1l fans start in HIGH speed after 30.5 se.unds,

¢. Fans 3,4,5 5 start in LOW speed after 30.5 seconds «nd fans
1,2,7,8 start in LOW speed 20 seconds later.

d. Fans 3,7 5,6 start in HIGH speed after 30.5 seconds and fans
1,2,7,8 start in HIGH speed 20 seconds later.
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ANSWER: 014 (1.00)
a.
REFERENCE :
VEGP LO-_P-29130-04, pg.
HNUN 23611, Voqtlt 1991 06-31, mndified.

3. Oni
4. O”ZODOAIOI [4.1/4.3]

022000A301 . (KA's)

QUESTION: 015 (1.00)

WHICH ONE (1) of *he following conditions will automatically start a standby
condensate pump?

a. Condensate pump suction pressure at 20 inches Mg.
b. Condensate pump discharge pressure at 650 psig.
g, Main fead water pump suction pressure at 250 psig.

d. Main feed water pump discharge pressure at 1250 psig.

ANSWER: 015 (1.00)
B
REFERENCE :
1. VEGP Text 13a, rev. 9, pp. 13a-49, & 65.

2. Both RO and SRO,
3. 056000K103 [2.6/2.6)

056000K103 . (KA's)
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QUESTION: 017 (1.00)
The following plant conditions exist:

< Unit 1 1s at 12 percent power,
« Steam Generator Water Leve) “ontrols are in automatic.

WHICH ONE (1) of the following failures will cause the bypass feed regulating
valve to for SG-1 to OPEN? |

a. Nuclear instrument channel N-44 fails HIGH,

b. No. 1 SG controlling level instrument LT-519 fails LOW,

c. No. 1 SG controlling feed flow instrument FT-510 fails LOW.
d. No. 1 SG controlling steam flow instrument FT-512 fails HIGH.

ANSWER: 017 (1.00) |
b,

REFERENCE :

Bt . o e, s

. Both RO and SRO.
. 059000K104 [3.4/3.4)

o O PO

05%000K104 v (KA's)
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QUESTION: 018 (1 00)

WHICH ONE (1) of the following conditions will start both motor driven AND the
turbine driven auxiliary feed water pumps?

a. Both steam generator feed pumps trip.

b. Three (3) pressurizer pressure channels reading 1750 psig.
P Three (lg controlling feedwater flow chanrels at 19 percent and
both turbine impulse pressure channels at 45 percent,

d. Three (3) NR steam generator level channels for SG-4 at 17 percent
and both turbine impulse pressure channels at 45 percent.

ANSWER: 018 (1.00)
¢,
REFERENCE :
1. VEGP Logics, Fig. 7.2.1<1, shts, 7, 15, & 16,
2. VEGP LO-1P-20101-15-C, pp. 56, & 57,
:. VEGP LO-LP-268103-11-C, pg. 35, LO 1.
5,

Both RO and SRO,
061000K407 [4.5/4.6)

N61000K402 ..(KA's)

CUESTION: 019 (1.00)

eHICH ONE (1) of the following combinations of steam generators will be fed by
the unaffected motor driven auxiliary feed water pump if power is lost to Bus
JAAO2 and the normal valve lineup remains?

a. 1 and 2.
b, 2 and 3.
s 3 and 4.

d. 4 and 1.



ANSWER: 019 (1.00)
b.

REFERENCE :

1. VEGP LO-LP-20101-15-C gq

2. VEGP One-line oloctricu lX)D AA-S3-D02B, rev. 6.
3. VEGP Text 13d, rev. 2, pp. 13d-2, & 7.

&, RO Only.

6. 06] 202 (3.7/3.7]

061000K202 . (KA'S)

QUESTION: 020 ('.00)

WHICH ONE (1) or the folluwing 15 a ‘'rpose of the flow restvictor orifice in
the discharge headers for each aux{). . y feed pump?

a. Reduces the flow to intact steam generators due to a feed line
break.

b. Reduces the ultimate containment pressure due to a steamline
break.

c. Reduces check-valve backflow and conseguent AFW pump steam
binding.

d. Reduces the backflow from intact steam generators due to an AFW
1ine break.

ANSWER: 020 {1.00)
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REFERENCE :

‘ :EGP 1
. 0610006007 [3.6/3.7)

OB D

. VEGP LO-LP-20101-15-C, pg. 52.

VEGP drug 1X4DB161-2, rev. 23,
ext 13d, rev. 2, pg. 13d-5.

0610006007 o (KA'S)

QUESTION: 021 (1.00)

WHICH ONE (1) of the following describes one of the automatic features of
RV-18, Rad Waste Discharge lsolation Valve?

a. Closes when the fuel building sump pumps start,
b. Opens when radiocactivity oxceeds 5000 cps detectable.
c. Opens when the waste monitor tank levels exceed 95 percent,

d. Closes when total discharge flow rate is less than 5,000 gpm,

ANSWER: 021 (1.00)

d.

REFERENCE :

1.
2.
3.

VEGP Text 17b, pp. 17b-20, & 24.
RO Only.
068000A302 [3.6/3.8)

¢ 3000A302 .. (KA's)
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QUESTION: 922 (1.00)
WHICH ONE (1) of the following des rif «» the impact on the gaseous waste
grocossiuq system if the detector f ¢ the waste gas discharge monitor (RE-14)
ails LOW during a waste gas release’
a. ERF display for RE-14 changes to magenta.

b. Aux Bldg continuous exhaust shifts to the equipment bldg stack.

¢ Gaseous waste discharge trip valve (RV-14) will close
automatically,

d. Waste Yas compressors will start returning the discharge stream to
the selected gas decay tank.

ANSWER: 022 (1.00)
a.
REFERENCE :
1. VEGP Text 17c, rev. 5, pp. 17¢-21. & 24,

2. Both RO and SRO.
3. 071000A20: [3.3/3.6]

071000A202 «(KA's)

QUESTION: 023 (1.00)

WHICH ONE (1) of the following indicates a condition that will initiate a
containment ventilatien isolation?

a. INTMD RADIATION ALARM annunciator 1it.
b. BYPASS CNMT VENT 1S0 Hl RAD TEST annunciator 1it.
2, One manual containment spray switch in the actuation position,

d. Loss of power to Containment Low Range radiation monitor RE-0003.
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ANSWER: 023 (1.00)
d.
REFERENCE :

EQB HNUM 19115, Vogtle 1990-06-25, modified.
VEGP LO-LP-32101-13-C, pp. 19, & 20,

. VEGP Text 1la, rev. 7, pg. 1la-30.

VEGP 17005-1, rev. 12, pp. B8, & 13,

. VEGP LO-LP-29160-07, pg. 10.

. Both RO and SRO.

. 072000K40] (3.3/3.6)

O UM S O

072000K401] . (KA'S)

QUESTION: 024 (1.00)

WHICH ONE (1) of the fallowing RCP pump combinations will result in loss of
all normal pressurizer sprays if deenergized?

a RCP 1 and RCP 2.
b. RCP 2 and RCP 3.
c RCP 3 and RCP 4,
d. RCP 4 and RCP 1,

ANSWER: 024 (1.00)
d.
REFERENCE :
8 o,

3, Both RO and SRO.
4. 002000K109 [4.1/4.1)

002000K109 . (KA's)
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QUESTION: 025 (1.00)
The following plant conditions exist:
- Unit 1 1s in MODE 2.
« Accumulator isolation valves are closed.
- Power is available to the accumulator isolation valves.

WHICH ONE (1) of the following conditions would cause an accumulator isolation
valve to open automatically?

a. One (1) containment pressure channels reading 20 psig.

b. Two (2) containment pressure channels reading 5.1 psig.
B, Twe (2) pressurizer pressure channels reading 1925 psig.
d, Three (3) pressurizer pressure channels reading 1975 psig.

ANSWER: 025 (1.00)
b. or d.
REFERENCE :

. VEGP LO-LP-13401-10-C, pp. 9. & 10, LO 4,
. VEGP LO-LP-28103-11-C, pg. 38.

VEGP Text 9a, rev. 4, pg. 9a-17.

Both RO and SRC.

006030K404 [(3.9/4.1)

R T e

006030K404 . (KA's)
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QUESTION: 026 (1.00)

WHICH ONE (1) of the following describes the flowpath of the RHR system during
Hot Leg Recirculation?

ANSWER :

€.
REFERENCE :

Water from the RCS hot legs is pumped by the RHR pumps through the
RHR heat exchangers and returned to all four RCS cold legs.

Water from the RCS hot legs 1s pumped by both RHR pumgs through
the RHR heat exchanger bypasses and then to all four RCS hot legs.

Water from the containment emergency sumps is pumped b{ the RHR
umps through the RHR heat exchangers and then to the RCS hot legs
and 4,

Water from the containment emergency t¢umps is pumped by both RHR
pumps through the RHR heat exchanger bypass piping and then to the
nCS hot legs 1 and 4.

026 (1.00)

), VLGP LO-LP-13301-06-C, pp. 16, & 17,

2. EQB HNUM 23673, Vogtle i991-05-31, modifiec.
3. Both RO and SRO.

4. 00L030K403 [3.4/3.6]

006030K403 o (KA's)
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QUESTION: 028 (1.00)

WHICH ONE (1) of the following explains why pressurizer level {s programmed
with reactor power?

Programming allows use of either the PDP or CCP for changing the
pressurizer level,

Programming allows for an increase in RCS mass which reduces waste
water during power changes.

Prugraan1ng allows for constant RCS mass with power to ensure
sufficient pressurizer volume during transients.

Programmin? allows use of a level transmitter with an output that
is inversely proportional to the differential pressure measured.

ANSWER: 028 (1.00)

C.
REFERENCE :

VEGP LO-LP-16302-06-C, pp. 5, 6, & 22, LO 1.
EQB HNUM 19121, Vogtle 1990-06-25, moarfied.,

1.
2.
2. RO Only.

011000k512 (2.7/3.3)

011000K512 «(KA's)
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QUESTION: 029 (1.00)
The following plart conditions exist:
< Unit 2 is in MODE 2.
« One (1) of the two switches for the Source Range Block permissive at
P-6 has been placed in "BLOCK" momentarily.
- Power level is increasiny toward the point of adding heat.

WHICH ONE (1) of the follow1ng describes the effect this alignment will have
on plant equipment operations

a. A Source Range high flux trip will occur,
b. One Source Range detector will be damaged.
Sy An Intermediate Range high flux trip will occur.

d. Botn Source Range detectors will become saturated.

ANSWER: 029 (1.00)
a.
REFERENCE :
VEGP LO-LP-28103-11-C, pg. 14,
EQB HNUM 23612, Vogtle 1991-05-31, modified.

Both RO and SRO.
. 012000K604 [3.3/3.6]

B a3 TN -

012000K604 «+(KA's)
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QUESTION: 030 (1.00)

WHICH ONE (1) of the following reactor trips is based on preventing departure
from nucleate d0iling?

a. Pressurizer high pressure,
b. Steam generator low-low level,
c. Power range flux negative rate.

d. Power range high fiux high set poi ..

ANSWER: 030 (1.00)
C.
REFERENCE :
. VEGP LC-LP-28103-11-C, pp. 15, 16, & 17.

1
2. Both RO and SRO,
3. 012000k402 (3.9/4.3]

012000K402 . (KA'S)

QUESTION: 031 (1.00)

WHICH ONE (1) of the following conditions will cause a "ROD DEVIATION/RADIAL
TILT" alarm during a rod withdrawal?

a. Central control card failure.
b. Control Bank B moving before Control Bank A.
{ c. 12-step difference between any two control banks.

d. Shut down bank rod less than 228 steps after reaching 100 percent
power.
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ANSWER: 03]
b.
REFERENCE :

(1.00)

1. VEGP LO-LP-27201-07, pp. 13, & 14, LO 7f,

EQB HNUM

23603, Vogtle 1991-05-31, modified.

2.
3. Both RO and SRO.
4. 0140006008 [2.9/3.1]

0140006008 . (KA's)

QUESTION: 03Z

WHICH ONE (1
pressure pro

a
b.

c.

ANSWER: 032
a.
REFERENCE :

1. VEGP Text
2. VEGP Logi

(1.00)

) of the following sets of pressure instruments provide cold over
tection for the reactor coolant system!

Wide range transmitter PT-403 and P1-408 from loops 1 and 4.
Wide range transmitter PT-404 and PT-406 from loops ? and 3.
Pressurizer pressure channels | and 111, PT-455 and 771-457.

Pressurizer pressure channels 11 and IV, PT-456 and PT-458.

(1.00)

l‘l rev, 6’ pq- 1."21n
¢ Fig. 7.2.1-1, sht, 6, rev. 8.

3. Both RO and SRO,
4. 01000K101 [3.4/3.4]

016000K101 «+(KA"s)

T vy
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ANSWER: 034 (1.00)
€.
REFERENCE :
1. VEGP Text 24f, rev. 5, pp. 24f-19, & 22, Fig. 24f.2,

2. Both RO and SRO.
3. 029000A301 [3.8/4.0)

029000A301 o (KA'S)

QUESTION: 035 (1.00)

WHICH ONE ‘l) of the follewing is the preferred (normal) source of make-up to
the spent fuel pool to replace evaporative losses?

a. Boron recycle system,
b. Demineralized Water System.
P Refueling Water Storage Tank.

d, Reactor Makeup Water Storage Tank.

ANSWER: 035 (1.00)
b'
REFERENCE:
1. VEGF LO-LP-25102-09-C, pg. 10.
2. VEGP Text 18b, rev. 2, pg. 18b-6.
3. EQB HNUM 22613, Vogtle 1991-05-31, modified,
L

Both RO and SRO.
033000K401 [2.9/3.2)

033000K401 (KA'S)
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GUESTION: 036 (1.00)

WHICH ONE sl) of the following signals will cause the Steam Generator Blowdown
sample isolation valves to automatically close?

a. Feedwater fsolation signal.
b. Motor driven AFW auto start signal.
. Containment isolation phase A signal.

d. RE-0021 steam generator blowdown high radiation signal.

ANSWER: 036 (1.00)
b.
REFERENCE :
VEGP LO-LP 24101-10, pg. 10,
EOB HNUM 23655, Vogtle 1991-05-3].

1.

2.

3. Both RO and SRO.

4. 035010K403 (2.6/2.8)

035010k403 .. (KA's)
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QUESTION: 037 (1.00)
The following plant conditions exist:
« Mnit 1 is at 65 percent power,
< Steam generator water level control is in automatic.
« No, 1 SG steam flow selector 15 in the 512 position,
- The associated steam pressure transmitter PT-514 fails HIGH,
WHICH ONE (1) of the following describes system response to this fallure?
a. Main feed water pumps reduce speed,
b. Main feedwater regulating valves throttle open,
L. 56 1 atmospheric relief valve opens on HIGH SG pressure,

d. Reactor trip breakers open on HIGH steam generator water level,

ANSWEP: 037 (1.00)
b.
REFERENCE :

. VEGP LO-LP-18501-08-C, p?. 24, LO 10.
* vcc' T‘lt' "V. ’, "go 3.'2’»

VEGP Drwg. 1X4DB168-3, rev. 21.

. Both RO and SRO,

035010A301 [4.1/3.9)

N B L PO e

035010A301 . (KA's)

R S S O ——— o p—
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QUESTION: 038 (1.00)

WHICH ONE (1) of tae following will generate a main steam line isolation
WITHOUT generating a safety injection signal?

a. Pressure in No, 2 steam line reading 550 psig.
b. Two (2) containment pressure channels reading 16 psig,
&, Three (3) pressurizer pressure channels reading 1850 psig.

d. Pressure in No. 3 steam 1ine has decreased 200 Bé&g in the last
minute with low pressure steamline isolation BL D

ANSWER: 038 (1.00)
d.
REFERENCE :
1 VEGP LO-LP-21102-12-C, pg. 22, LO 15,
2. VEGP Text 8a, rev. 1, pp. Ba-28, 29, 30, & 31.

3. Both RO and SRO.
4. 039000A302 (3.1/3.5]

039000A302 (KA'S)

QUESTION: 039 (1.90)

WHICH ONE (1) of the following is powered from a 4160 VAC bus?
a. Condensate pumps.
b. Heater drain pumps.
. Electric steam boiler,

d. Circulating water pumps,
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REFERENCE :

VEGP LO-LP-01001-03, pg. 16, LO 8,

. VEGP drwg 1X3D-AA-GOIA.

EQB HNUM 19130, Vogtle 1990-06-25, modified.
. RO Only.

. 062000A210 [3.0/3.3)

LE B R
- -

0620004210 o (KA'S)

QUESTION: 041 ({1.00)
WHICH ONE (1) of the following systems is the preferred alternative source of
water for the nuclear service cooling towers if the nuclear service cooling
tower make up pumps are not sorviceable?
8. fotable water,
b. Utility water,
L Circulating water,

d. River make up water.

ANCWER: 041 (1.00)
d.
REFERENCE :
1. VEGP Text 10n, rev. 3, pg. 10h-2, Text 10§, rev. 4, Fig. 11j-1.

2. Both RO and SRO.
3. 075000K108 [3.2/3.2)

075000K108 . (KA's)
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QUESTION: 042 (1.00)

WHICH ONE (1) of the following is a function of the Local Suppression
Indicating Panels of the Fire Detection System?

8. Provides readout of fire system instrumentation in the control
room.

b. Monitore fire detectors, processes trouble signals, and generates
alarms.

- Provides signals to actuate fire protection systems and monitors

fire protection system status.

d. Monitors status of which detectors in & zone are in an alarm
condition when a zone contains many detectors,

ANSWER: 042 (1.00)
c.
REFERENCE
| EQ NN 23659, Vogt1e 1991.06:31, modiFed.

. Both RO and SRO,
. 0860006007 {3.0/3.2]

B PO

0860006007 o (KA's)

QUESTION: 043 (1.00)
WHICH ONE (1) of the following conditions satisfies one of the opening
criteria for the "A" train Residual Heat Removal System loop suction isolation
valves, HV-B701A and HV-8701B?
a. RWST suction valve 8812B is closed.
b. Charging pump suction 8804A is closed.

0. Wide range RCS pressure equals 380 psig.

d. Safety injection suction valve savad is open.
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ANSWER: 043 (1.00)
b.
REFERENCE :
. VEGP Text 10a, rev. 7, pa. 10a-16.

1
2. Both RO and SRO.
3. 005000K407 (3.2/3.5)

005000K&07 ..(KA's)

QUESTION: 044 (1.00)

WHICH ONE (1) of the following satisfies the interlock logic for opening the
Train A RHR containment sump suction valve HV-8B1]A?

a. Both loop suction valves (HV-8701A and B) closed, and RHR to CCP
suction (HV-8G04A) < --ed.

b. One of two loop suction valves (HV-B701A or B) closed, and RHR to
CCP suction (HV-8804A) closed.

L. Both loop suction valves (HV-8701A and B) closed, and RWST suctiun
(HV-8812A) closed.

d. One of twn loop suction valves (HV-8701A or B) closed, and RWST
suction (1./-8812A) closed.

ANSWER: 044 (1.00)
d.
REFERENCE :
. VEGP LO-LP-12101-24-C, pp. 63, LO Be.
VEG™ Exam Bank, CL-12, Ques. 2.07.

. RO Only.
0050007405 [2.8/2.8]

L L0 PO

0050004405 . \KA's)
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QUESTION: 045 (1.00)

WHICH ONE (1) of the following provides dilution air for the containment
hydrogen purge system?

a. Plant service air system,

0. Plant breathing air system,

. Containment mini-purgz system.
d. Containment normal purge system.

AnoWER: 045 (1.00)
a.
REFERENCE :
1. VEGP Text 24f, rev, 5, pg. 24f-5.

2. RO Only.
3. 0280006007 (3.2/3.3)

0280006007 . (KA's)

QUESTICY: 046 (1.00)

WHICH ONE (1) of the following fuel handling components or functions is
controlled at the containment building console?

a. Crane interlock bypass.
b. Bridge interlock bypass.
L. Enable fuel transfer cart movement.

d. Operate fuel transfer "'tbe isolation valve,

ANSWER: 046 (1.00)

€
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QUESTION: 049 (1.00)
The following plant conditions exist:
- A11 plant systems are operating as designed.
= Nuclear Service Cooling Water (NSCW) pumps 1 and 3 are operating in
train "A",

WHICH ONE (1) of the foilowing describes the system response if the No. 1 NSCW
pump trips?

a. NSCW pump 2 starts immediately.
b. Discharge valve for NSCW pump 5 opens in 40 to 45 seconJs.
" NSCW pump 2 startes when its discharge valve is full open.

d. Tower bypass/return valves stroke closed to maintain system
pressure.

ANSWER: 049 (1.00)
b.
REFERENCE :
. VEGP Text 10d, vev. 7, pg. 10d-13.
. VEGP LO-iP-06101-18-C, pg. 32, LO 10 & 12,

. Both RO and SRO.
. 076000K402 [2.9/3.2]

B NS e—

076000K402 .. (KA's)
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QUESTION:

052 (1.00)

The following plant conditions exist:

-

Unit 2 1s at 45 percent power.

RCP TRIP annunciator 1it.

RCP LOOP 3 LOW FLOW ALERT annunciator 1it.
LOOP 3 RTD BYPASS LO FLOW annunciator 1it.

WHICH ONE (1) of the following actions is an IMMEDIATE ACTION for this event
per VEGP i8005-C, "Partial Loss of Flow"?

a,
b.

C.

ANSWER:

b.

Verify No. 3 steam generator level is trending to 50 percent.
Verify No. 3 steam generator level is trending to 65 percent.

Verify Nos. 1, 2, and 4 st~am generator levels are between 45 and
55 percent,

Verify Nos. 1, 2, and 4 steam generator ,evels are between 60 and
70 percent.

052 (1.00)

REFERENCE :
. VEGP 18005-C, ruv, 5, pp. 1, & 2.

1
2. Both
3

RO and SRO.

. 000015G010 [3.4/3.4]

0000156010 .. (KA's)
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REACTOR OPERATOR

QUESTION: 054 (1.00)
The following plant conditions exist:
= Unit 1 is in MODE 1,

~ ACCW LO HDR PRESS annunciator 1it.
< ACCW RCP 3 CLR LO FLOW annunciator 1it.

ACCW RCP 3 CLR OUTLET HI TEMP annunciator 1it.
ACCW RTN HDR FROM RCP LO FLOW annunciator 1it.

WHICH ONE (1) of the following conditions satisfy criteria for tripping the
reactor coolant pumps according to VEGP 18022-C "Loss of Auxiliary Component
Cooling Water"?

a.
b.

Ca

ANSWER:
C.

REFERENCE .

054

Seal water outlet temperature at 220 degrees F.
Motor stator winding temperature at 220 degrees F.
Motor Inwer radial bearing temperatury at 220 degrees F.

Pump lower seal water bearing temperature at 220 degrees F.

(1.00)

1. VEGP 18022-C, rev. 5, pg. 4.
2. Both RO and SRO.
3. 000026K303 [4.0/4.2]

/00026K303 ..(KA's)







REACTOR OPERATOR Page 46

QUESTION: 056 (1.00)
If the gressure in the No. 1 steam generator is 1228 psig, WHICH ONE (1) of
the following is the MINIMUM number of code safety valves that should be open?
Assume a zero setpoint tolerance.
a.
b.

c'

-, W e

ANSWER: 056 (1.00)
d.
REFERENCE :
1. VEGP LO-LP-21102-12-C, pp. 17, & 36, LO 2c.

2. RO Only.
3. 00004CA109 [3.4/3.4]

000040A109 .. (KA's)

QUESTION: 057 (1.00)

The following plant conditions exist:
- Unit 1 is at 45 percent power.
- TURB CNDSR LO VAC annunciator 1lit.
- Condenser vacuum reads 20.5 inches Hg.

WHICH ONE (1) of the following should have occurred?
a. Turbine run back.
b. Turbine trip only.

C. Reactor trip initiating a turbine trip.

d. Turbine trip initiating a reactor trip.



REACTOR GPERATOR

ANSWER:
b.
REFERENCE :

057 (1.00)

1. VEGP 17019-1, rev. 8, pp. 11, & 19.
2. Both RO and SRO.
3. 000051A202 [3.9/4.1]

000051A202 ..(KA's)

QUESTION:

058 (1.20)

The following plant condition. exist:

- Off site power is lost.
- Emergency diesel generators fail to start.
- RCS pressure is 1500 psig.

WHICH ONE (1) of the following is a concern regarding the plant cooldown
performed in EOP 19100-C, "ECA-0.0, Loss of All AL"?

a.
b.

c,

 ANSWEP,
d.

Mixing of injected boron is poor during the cooldown.
Accumulator injection will cause counter flow forces.

Reactor outlet temperatures approximate steam generator
temperatures.

Positive reactivity is added during steam generator
depressurization.

058 (1.00)

Page 47
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REFERENCE :
1. VEGP 19002-C, rev. 8, pg. 2.
2. VEGP 19100-C, rev, 7, pg. 21.
:. VEGP LO-LP-37031-07-C, pg. 14, LO 5,
1

. Both RO and SRO.
. 000055K102 (4.1/4.4)

000055K102 ..(KA's)

QUESTION: 059 (1.00)
The following plant conditions exist:
- 19100-C "ECA-0,0 LOSS OF ALL AC POWER" has been entered.

WHICH ONE (1) of the following explains the consequence of depressurizing the
steam generators below 170 psig during the plant cooldown?

a. Nitrogen from the S! accumulators may be injected into the RCS.

b. Calibration of the steam generator level instruments become
invalid.

s Steam generator pressure may become inadequate for driving the
TDAFW pump.

d. Pressurized thermal shock conditions may cause fracture of the

reactor pressure vessel.

ANSWER: 059 (1.00)
a,
REFERENCE :

. VEGP 19100-C, rev. 7, pg. 19.

. VEGP Text 13d, rev. 2, pg. 13d-4.

. VEGP LO-LP-37031-07-C, pg. 15, LO 5.
. RO Only.

. 000055G007 [3.6/3.7]

(S i T

0000556007 .. (KA's)
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REACTOR OPERATOR

QUESTION: 060 (1.00)

WHICH ONE (1{ of the following vital instrument panel:,
0

result in a loss of the Train B sequencer?
a. INYIN.
b. INY2N.
c. 1BY1B.
d. 1BY2B.

ANSWER: 060 (1.00)
d.
REFERENCE :
1. VEGP LO-LP-60324-04-C, pp. 37, & 38, LO 4c.

2. Both RO and SRO.
3. 000057A220 [3.6/3.9]

000057A220 ..(KA's)

Page 49
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QUESTION: 061 (1.00)
The following plant conditions exists:

- A large brush fire is burning near the plant.
- Smoke has entered the intakes for the control room ventilation system.

WHICH ONE (1) of the following describes how the control room HVAC is
reconfigured to protect the control room personnel from this hazard?

a. Operators manually shift the control room HVAC to the purge mode.

b. Operators manually shift the control room HVAC to the isolation
mode .

£, Smoke detectors cause automatic shift of the control room HVAC to

the purge mode,

d. Smoke detectors cause automatic shift of the control room HVAC to
the emergency mode.

ANSWER: 061 (1.00)
b.
REFERENCE :
. VEGP LO-LP-23101-09-C, pp. 13, & 14, LO 1.
. VEGP Text 24b, rev. 6, pg. 24b-47.

. Both RO and SRO.
. 000067A105 [3.0/3.1]

B DD

000067A105 ..(KA's)
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QUESTION: 062 (1.00)

The following conditions exist:

- The control room is evacuated due to fire.

- Control of all components has been transferred to the shutdown panels.

- The shutdown panel switch for the “B" SI pump is "OFF" when a valid Sl
signal is received.

WHICH ONE (1) of the following describes the operation of the 'B" SI pump?

a. It will start automatically and cannot be secured until SI is
reset.
b. It will start automatically and remain running until its

associated breaker is locally opened.

& It can be stavted manually by the operator using the shutdown
panel switch without first resetting SI.

d. It can be started manually by the operator only after resetting Sl
and then using the shutdown panel switch,

ANSWER: 062 (1.00)
C.
REFERENCE :
VEGP LO-LP-60327-03-C, pp. 7, & 19, LO 3.
EQB HNUM 23689, Vogtle 1991-05-31, modified.

RO Only.
. C00068Al2] [3.9/4.1]

B W PO e

000068A12) .+ (KA's)
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QUESTION: 063 (1.00)

WHICH ONc (1) of the following conditions constitutes a LOSS of containment
integrity per Technical Specifications?

a. Containment leak rate exceeds Tech Spec 3.6.1.2 while in MODE 5.

b. Outer airlock door open for the passage of personnel while in MODE
4.

B Inner air lock door open for the passage of personnel while in
MODE §.

d. Charging isolation valves HV-8105 and HV-8106 deenergized open
while in MODE 4.

ANSWER: 063 (1.00)
d.
REFERENCE ;

VEGP Tech Spec 1.4, 3.6.1.1, 3.6.1.2, 3.6.1.3.
. VEGP drwg 1X4DB116-1.

VEGP LO-LP-39210-C, pp. !, & 9, LO 2.

Both RO and SRO.

EQB HNUM 19157, Vo?tle 1990-06-25, modified.
000069A201 [3.7/4.3]

e I P

000069A201 ..(KA's)
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QUESTION: 064 (1.00)

WHICH ONE (1) of the following explains why the RCPs are tripped early in the
response to a loss of secondary heat sink?

a.
b.

c.

ANSWER:

a.
REFERENCE :

. VEGP LO-LP-37051-07-C, pg. 10.

. EQB HNUM 23640, Vogtle 1991-05-31, modified.
. Both RO and SRO.

. 000074K304 [3.9/4.2]

BN

To eliminate the heat input from the RCPs.
To protect the RCPs from petential seal damage.
To ensure that natural circulation is established.

To prevent the RCPs from causing an RCS depressurization
transient.

(1.00)

000074K304 ..(KA's)

QUESTION: 065 (1.00)
WHICH ONE (1) of the following completes the statement?

Flow through the Gross Failed Fuel Detector may be secured by operating valves

from the
a.
b.

c.

orthy
QMCB, Nuclear Sampling Panel.
QPCP, Nuclear Sampling Panel,
OMCB, Gross Failed Fuel Detector Panel.

QPCP, Gross Failed Fuel Detector Panel.
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ANSWER: 065 (1.00)
b.
REFERENCE ;
VEGP LO-LP-64202-03, pg. 9, LG la, & lc.
EQB HNUM 23695, Vogtle 1991-05-31, modified.

. Both RO and SRO.
. 000076A104 (3.2/3.4)

B PO

000076A104 «.(KA’s)

QUESTION: 066 (1.00)

WHICH ONE (1) of the following conditions would require entry into a Technical
Specification action statement?

a. Reactor power is 3417 MWt by Preicus Instantaneous Reading.

b. QPTR 1s calculated per surveillance to be 1.021 on NIS upper
detectors,

es One (1) channel of AFD indicating 4 percent above target at 95
percent power.

d. Auctioneered high T-avg is 1.5 degrees F above T-ref at 100
percent power,

ANSWER: 066 (1.00)
b.
REFERENCE :

VEGF 18003-C, rev. 11, pg. 1.

VEGP Text 6a, rev. 3, Fig. 6-26.

VEGP LO-LP-60303-11-C, pp. 7, & 35, LO 21,
RO Only.

0000036003 r1.3/3.8]

LS i
. & % =

000vC5auu3 ..(KA's)
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QUESTION: 068 (1.00)
The following plant conditions exist:

Unit 1 is at 100 percent power.

Pressurizer pressure channel selector is in the 455-456 position.
Pressurizer pressure transmitter PT7-456 fails to 2390 psig.

Except for the noted transmitter failure, all of the plant controllers
are operating normally.

L] ' . L]

WHICH ONE (1) of the following actions or conditions will STOP further plant
degradation from this event?

a. Operators manually closing PORV PCV-455,

b. Operators marually closing pressurizer spray valve PCV-4558,

Ei One (1) pressurizer pressure transmitter, PT-458, sensing 2150
psig.

d. Two (2) pressurizer pressure transmitters, PT-455 and PT-4£7,

sensing 2180 psig.

ANSWER: 068 (1.00)
d.
REFERENCE:
BB I e

. Both RO and SRO.
. 000008A206 [3.3/3.6]

B D P

000008A206 ..(KA's)
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QUESTION: 069 (1.00)
The following plant conditions exist:

< Unit 1 is in MODE 3,
- At 1300 hrs RCS temperature is 450 degrees F,

WHICH ONE (1) of the following will cause the MOST severe pressurized thermal
shock to the reactor pressure vessel?

a. At 1330 hrs RCS temperature is 401 degrees F.
b. AL 1330 hrs RCS temperature is 499 degrees F.
- At 1400 hrs RCS temperature is 349 degrees F.
d. At 1400 hrs RCS temperature is 551 degrees F.

ANSWER: 069 (1.00)
C.
REFERENCE :

. VEGP LO-LP-16202-03, rev. 3, pp. 7, & 8, LO 3.

VEGP 19200-C, rev. 8, pg. 7.

VEGP Technical Specifications 3.4.9.1, & Table 1.2.
Both RO and SRO.

. 000009K308 [3.6/4.1]

B W NS e

C00009K308 ..(KA's)
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QUESTION: 070

(1.00)

The following plant conditions exist:

- Unit ] has tripped from 100 percent power due to low pressurizer

ressure.

« PORV PCV-456 is open and the block valve will NOT close.
- Reactor coolant pumps have been stopped.

WHICH ONE (1) of the following explains why natural circulation flow could
stop under these conditions?

a
b.

C.

ANSWER

C.

REFERENCE :

Steam voids will form in the RCP volutes.
Non-condensible gases will fill the reactor heud.
Steam voids will form in the steam generator U-tubes.

Non-condensible gases will collect at the steam generator tube
sheets.

070 (1.00)

1. VEGP LO-LP-36101-04-C, pp. 21, 22, 23, 24, & 29, LO 12.
2. Both RO and SRO.
3. 000009K10) [§. 218 M

000003K101 .. (KA'S)
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QUESTION: 071 (1.90)
The following plant conditions exist:

« A large break LOCA has occurred on Unit 1.
- RWST level is at 9 percent.

WHICH ONE (1) of the following describes the action that should occur as a
result of this RWST level?

a. RWST to Emergency Sump semi-automatic swapover,
b. RWST isolation valves are closed automatically.
g Spray additive isolation valves are manually closed.
d. Containment emergency sump pumps start automatically.

ANSWER: 071 (1.00)
C.
REFERENCE :
. VEGP LO-LP-15101-09, pg. 7, LO 8.

1
2. Both RO and SRO.
3. 000011A111 [4.2/4.2]

00C2:1AL11 ..(KA's)

QUESTION: 072 (1.00)

WHICH ONE (]) of the following explains the purpose for shifting to Hot Leg
Recirculation dvring a large break LOCA?

a. Conse ~es RWST inventory.
b. Breaks up boron precipitation.
E - Reduces the rates of RCS cooldown.
E d. Stabilizes RCS temperatures when a pressurized thermal shock is

imainent.
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1. VEGP 18007-C, rev. 6, pp. 2, 3, 5, & 11.
2. Both RO and SRO.

3. 000022601

000022601

ve STION: 074

WHICH ONE (1
water level

ANSWER: 074
C.
REFERENCE :
1. VEGP LO-L
2. VEGP 1301
3. EQB HNUM

4. Both RO a
5. €00025K10

0C0025K10

1 [3.3/3.6)]

1 . (KA's)

(1.00)

) of the fellowirg describes why RHR flow is limited when RCS
is at mid-nozzle level?

To prevent loss of pump suction due to low net positive suction
head.

To prevent a pump overcurrent trip due to the low discharge
pressure,

To prevent loss ot pump suction due to gas entrainment in the
impeller.

To prevent a pump overspeed trip from runout due to low discharge
pressure,

{1.00)

P-12101-24-C, pg. 67, LO 18c.

1-1, rev. 23, pg. 2, precaution 2.1.6.
2369° Vogtle 1991-05-31, modified.

nd SRO.

1 [3.9/4.3]

] .. (KA's)
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QUESTION: 075 11.00)

WHICH ONE (1) of the following is the reason for ensuring that RCS pressure is
less than 2335 psig in step 5§ of EOP 19211-C "FR-S.1 Response tu Nuclear Power
Generation/ATWT"?

a. Prevents the PRT rupture disc from bursting due to a PORV 1i{ting.

b. Ensures that the injection rate of boric acid into the core is
sufficient.
Ea Ensures that the PORV's are operating properly to prevent the code

safety valves from 1ifting.

d. Prevents the PORVs from opening and diverting a portion of the
full flow uf boric acid from the core,

ANSWER: 075 (1.00)

b.
REFERENCE:
1. VEGP 19211-C, r.. pg. 3.
2. VEGP LO-LP-3704] pg. 13, LO 7.
3. EQB HNUM 19147, 1890-06-25, modified.
4. Bcth RO and SRO.
5. 000029K312 [3.4/4.7]

000029K312 . (KA's)
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QUESTION: €76 (1.00)

The folloaing plant conditions ex,.t:
« Unit 1 15 in MODE 2 at 1E+03 CPS,
« SCURCE RANGE HI VOLTACE FAILURE annunciator 14t
« N7 fails downscale,

WHICH ONE (1) of the following is an operator !MMEOIATE ACTION in response to
this event?

a. Select the Source Range channel N-32 on NR-45,
b, Suspend 211 operations in the fuel handling building.
Ss Place Source Range channe! N-31 level trip switch in bypass.

d. Suspend all sperations involving positive reactivity changes.

ANLWER: 076 (1.00)
d.
REFERENCE :

. VEGP LO-LP-60302-03, pg. 6.

. VEGP 180 .2-C, rev. 5, pg. 2.

VEGP 17010-1, rev, 15 pg. 5.

Both RC and SRC,

EQB HNUM 23693, Vogtln 1991-05-31, modified.
0000326010 (2.9/3.1)

0000326010 .+ (KA'S)
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QUESTION: 077 (1.00)

WHICH OF" (1) of the following describes the effects of a loss of compersating
v:l::gsngr intere=diate range nuclear instrument N-36& during a reactor

shu

a. N-%6 wil! .ndicate LOW and the source range detector voltage will
enargize.

n. N-36 will indicate HIGH and the source range detector voltage will
energize,

c. N-36 will indicate LOW and the source range detector voltage will
NOT energize.

d. N-36 will indicate HIGH and the source range detector voltzge will
NOT energize.

ANSWER: 077 (1.00)
d.
REFERENCE :
1. VEGP LO-LP-17201-07-C, pg. 10, L0 8.

2. Both RO and SRO.
3. D00033A211) 13.1/3.4]

000033A211 . KA's)

N e e e
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QUESTION: 078 (1.00)

WHICH ONE (l& of the following 1s the reason that the Steam Generator
Amospheric Relief Valve (ARV) setpoint is changed by procedure in response to
a steam generator tube leak?

a. Provides code-compliance over-pressure protection of the steam
generator during this event,

b. Minimizes the possibility of the ARV or the NON-faulted SGs from
actuating and causing a release,

$: Provides additional over-pressure protection to the steam
generator in the event of additional tube failures,

d. Minimizes the possibility ot a release by allowing the maximuy
steam generxtor pressure without 1ifting the safeties.

ANSER: 078 (1.00)
.
REFERENCE :
QB HNOH 23712, Vogtie 1891-08-31, modified.

W

8

3. Both RO and SRO.

4. 000037K307 [4.2/4.4)

000037K307 o (KA'S)
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QUESTION:
The fol)

079 (1.00)

owing plant conditions exist:

~ A steam generator tube rupture occurred.
< Unit 1 has tripped and EOPs were properly followed.
- The SRO 1s currently in VEGP 1903] "E€-3.), POST-SGTR COOLDOWN USING

BACKFILL."

< At 1310 hrs, cooldown was started and at that time the RCS was at the

minimum temperature for criticality,

WHICH ONE (1) of the fol1owin8pcond1tions is ‘ndicative of an acceptable

cooldown rate according to VEGP 19031, "ES-3.1, POST-SGTR COOLDOWN USING
BACKFILL"?
a. Hot leg instruments read 490 degrees F at 1340 hrs,
b, Cold leg instruments read 480 degrees F at 1350 hrs,
c. Hot leg instruments read 470 degrees F at 1400 hrs.
d. vold leg instriments read 460 degrees f at 1410 hrs.
ANSWER: 079 (1.00)
d.
REFERENCE :
1. VEGP 19031, rev. 7, pg. 5.
2. VEGP LO-LP-37312- 06- C, pg. 11, LO 4.
3. VEGP LO-LP-16101-06-C, pg. 16, L0 3.
4. Both RO and SRO.
5. 000038A136 (4.3/4.5)
000038A136 .« (KA's)

R T Y TSI |
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QUESTION: 080 (1.00)

WHICH ONE (1) of the following explains why it is important to promptly match
T-avg to T-ref during a loss of main feed pump event?

a. To close the steam dumps thereby reducing steam flow.

b. To reduce RCS temperature Lhereby increasing the ONBR.

., To reduce RCS pressure thereby reducing required feed line
pressure,
d. To close the main feed regulating valves thereby preserving main

feed inventory.

ANS¥ER: 080 (1.00)
a,
REFERENCE :
1. VEGP LO-LP-60314-05-C, pp. 6, & i2, LO §.

2. Both RO and SRO.
3. 000054K304 [4.4/4.6)

000054K304 . (KA'S)

QUESTION: 081 (1.00)

WHICH ONE (1) of the following symptoms is initially common to a break in a
main steam 1ine AND a break in a main feed 1ine assuming a constant load on
the turbine?

a. Reactor power increases.
b. Steam generator pressure decreases.
- Steam generator pressure increases.

d. Steam generator levels fluctuate widely,



REACTOR OPERATOR

ANSWER: 081 (1.00)
b.
REFERENCE :

1. VEGP LO-LP-37121-07-C, pp. 7, & 8, LO 6.

2. RO Only.
3. 060054K101 [4.1/4.3)

000054K101 . (KA'S)

GUESTION: 082 (1.00)

Page 68

WHICH ONE (1) of the followint will result from a loss of 125 VDC bus 1AD1?

Assume neither diesel is runr.ng.

a. Diesel generator DGIA will start automatically.

b. Niesel generator DGiB will start automatically.

£, Diesel generator DGIA will not start from the control room,

d. Diesel generator DGIB will not start from the control room.

ANSWER: 082 (1,00)
C.
REFERENCE :
1. VEGP 18034-4, rev. 1, pg. 2.

2. Both RO and SRO.
3. 000058A203 [3.5/3.9]

00V058A203 o (KA's)
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OUESTION: 083 (1.00)

WHICH ONE (1) of the following malfunctions could result in a release above
the 10 CFR 20 1imits 1f a Gaseous Radwaste System release is in progress?

a. Waste gas effluent monitor, RE-14, fails LOW.
b. Waste gas effluent moniter, RE-14, fails HIGH,
S Loss of 125 YDC power to radiation trip valve, RV-0014,

d. Loss of instrument air to radiation trip valve, RV-0014,

ANSWER: 083 (1.00)
a.
REFERENCE :
1. VEGP LO-LP-4610)-08, pp. 18, & 37, LO 11.
:. EQB HNUM 32633, Vogtle 1991-05-31, modified.
5.

RO Only.
000060A205 [3.¥/4,2)

000060A205 . (KA'S)
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QUESTION: OBA (1.00)
The following plant conditions exist:
« A reactor trip has occurred from 100 percent power.
- Containment low range area monitors 1-RE-0002 and 1-RE-0003 are in
alarm,
WHICH ONE (1) of the following describes the cause for these alarms?

A steam line break accident has occurred.
A loss of reactor coolant accident has occurred.

N-16 background in containment has exceeded 10 mrem/hr,

Airborne particulate activity has exceeded 500 micro-curies/cubic
meter.

ANSWER: 084 (1.00)
b.

REFERENCE :

1. VEGP 17102-1, rev. B, pp. 14, & 25.
2. Both RO and SRO,
3. 000061GCOS [3.1/3.3)

0000616005 ««(KA's)
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QUESTION: 085 (1.00)
The following plant conditions exist:

< Unit 1 1s at 100 percent power.
Bretse Lk e Cresostior el FTs 13 4 Sonnty e peseten.

WHILH ONE (1) of the following plant responses occurs FIRST?
a. Reactor trips on high pressurizer level.
b. Pressurizer heaters deenergize.
"] Letdown isolation valve LCV-460 closes.

d. Regenerative heat exchanger outlet temperature increases,

ANSWER: 085 (1.00)
a,
REFFRENCE :
1. VEGP 16302-06-C pg. 16, LO-TP-16302-007,

2. Both RO and SRO,
3. 0000268A202 [3.4/3.8]

000028A202 o (KA's)
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QUESTION:

086 (1.00)

The following plant conditions exist:

~ Unit 1 is in MODE 6.
« fuel Handling Building Ventilation lsolation has actuated.

WHICH ONE (1) of the following signals could have caused this event?

]
b.

C.

ANSWER:
d.
REFERENCE :

U B O D

LOW air flow in the normal fuel handling bldg HVAC.
LOW air flow in the fuel pool area recirculation units.
Spent Fuel Pool cooling temperature equals 132 degrees F.

Fuel Handling Building differential pressure equals 0.30 inches
water gauge.

086 (1.00)

. VEGP Text 24c, rev. 1, pg. 24c-18.

. VEGP LO-LP-23301-11-C, pg. 10, LO 3.
VEGP LO-LP-25102-09-C, pg. 17,

. EQB HNUM 23656, Vogtle 1991

. Both RO and SRO,

. 000036K302 [2.9/3.6]

<05-25, modified.

000036K302 .. (KA's)



REACTOR OPERATOR Page 73

QUESTION: 087 (1.00)
The following plant conditions exist:

« Unit 1 has tripped from 100 percent power due to a loss of off-site
ower .

- Diesels start and the sequencers pegin loading the diesels.

- 15 seconds after the sequencers start, safety injection is
inadvertently actuated,

WHICH ONE (1) of the following explains the subsequent response of the Unit |
sequencers?

a. The sequencers will reset immediately and start sequencing the §I
loads.

b. The sequencers will reset in 20 seconds and start sequencing the
S1 loads.

C. The sequencers must be reset manually before the SI Toads will

begin sequencing.

d. The sequencers will start those SI loads not started previously by
the UV sequencer after 20 seconds.

ANSWER: 087 (1.00)
a.
REFERENCE :
1. VEGP LO-LP-28201-13-C, pp. 8, 9, & 11.

2. Both RO and SRO.
3. 000056A247 [3.8/3.9)

000056A247 . (KA's)



P

REACTOR OPERATOR Page 74

QUESTION: 088 (1.00)

WHICH ONC (1) of the following is = . threshold pressure below which the
operator is directed by procedure VEGP 18028-C, "Loss of Instrument Air," to
trip the reactor if the instrument air pressure is decreasing and can not be
restored?

a. 60 psig.
b. 70 psig.
c. 80 psig.
d. 90 psig.

ANSWER: 088 (1.00)
b,
REFERENCE :
1. VEGP 18028-C, rev. 10, pg. 5.
2. RO Only.
3. 000065A206 [3.6/4.2)

9-6. 900-P=-
000065A206 .. (KA'S)
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QUESTION: 089 (1.00)

The following plant conditions exist:
< Unit 1 1s in MODE 5.
- You are porformin? a valve lineup on the auxiliary feedwater system,
- You find a valve in the closed position that is required to be open.

WHICH ONE (1) of the following actions should be taken per procedure 00308-C,
"Independent Verification Policy"?

a. Inform the Shift Supervisor and reposition the valve as directed.

b. Attempt to move the valve in the open position to verify position
and notify the Shift Supervisor.

c. Reposition the valve and have the other individual of the two
person team perform the verification.

d. Inform the Shift Supervisor, reposition the valve, and initial
BOTH the "Lineup" and "Verification" blank on the valve sheet.

ANSWER: 089 (1.00)
a.
REFERENCE :
. VEGP LO-LP-63308-08-C, pp. 10, & 11.
. VEGP 00308-C, rev. 5, pp. 1, 3, 4, 5, & 6.

. 194001K101 [3.6/3.7)
. RO Only.

B PO -

194001K101 . (KA"S)
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QUESTION: 09C (1.00)

Gachiration of smergsacy und Lhe nOTITICACIon of SLACs and Tock! suthorities?
a. 15 minutes.
b. 30 minutes.
- 45 minutes.

d. 60 minutes.

ANSWER: 090 (1.00)
a,
REFERENCE:
I. VEGP LO-LP 40101-15-C, pg. LO-TP-40101-020, LO 17.

2. 194001A116 (3.1/4.2)
3. RO Only,

194001A1 16 . (KA's)



~ REACTOR OPERATOR Prze /1

QUESTION:

091 (1.00)

WHICH ON (1) of the following describes one requirdment at Vogtle fer
operations log entries?

b.

ANSWER:
d.
REFERENCE :

The last entry for the shift will be "Relieved by ", foliuwed
by the signature of the on-coming person,

A late entry must be mede within one (1) hour of the time the
event occurred and "Late (n*“v" or "LE" shall be written next to
the entry time,

Action wtries shall be noted on the unit stitus board and
logged when plen. conditions alluw,

Errors in all 1og untries shall be voided by a single line and
initiaied by the individual voiding the entry.

091 (1.90)

1. VeGP LO-LP-63501-06, pp. 7, & 8,
VEGP 10001 €, pg. 1, 2, 3, & 4.
T!.C/J.

2.
2. 194C01A106

4]

Both 0 and SRO,

194001A106 < (KATy)
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QUESTION: 093 (1.00)
WHICH ONE (1) »f the following fire header ?ressures would cause the FIRST

diese] driver /ire pump to start autom: ically?
a. 85 psig.
b, 95 psig.
¢ 105 psig.
d 110 psig.

ANSWER: 093 (1.00)
b.
REFERENCE :
1. VEGP LO-LP 43101-07-C, pg. 33, LO 9.

2. RO only.
3. 194001K116 [3.5/4.2)

194001K116 . (KA'S)

QUESTION: 094 (1.00)

WHICH ONE (1) of the following individuals is NOT permitted to operate
reactor controls uader the instruction or supervision of a Ticensed operator?

a. A licensed reactor operator whose license has becore irictive per
the requirements of 10CFRS5S.

b. A senfor company manager touring the plant under (he direct
control of a Reactor Operator,

B An auxiliary operator enroi,ed in a current license training
course to obtain an operator license,

| d. A licensed reactor cperator who recently failed an NRC
administered Senior Reactor Operator upgrade oxamination.
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ANSWER: 094 (1.00)
b.
REFERENCE :

1. VEGP )P000-C, Section 3.3.1.4, pg. 15,
2, VEGP LO-LP-63500-12-C, LO lc, 2¢, & Sa.
3. 10 CFR §5.13{a) 12;
4. 194001A109 [2.7/3.9]), 194001A103 [2.5/3.4)
5. RO Only. :
194001A109 . (KA's)

GQUESTION: 095 (1.00)

WHICH ONE (1) of the following individuals may supplement the Fire Team when
necessary?

a. Shift Supervisor,

b. Reactor Operator,
A Juiside Area Operator,
1. Balance of Plant Operator.

ANSWER: 095 (1.00)

C'

T I ——
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PEFERENCE :
1. VEGP 10003-C, rev, 13, pg. 2.

2. 194001K116  [3.5/4.2)
3. Both RO and SRO.

194001K116 . (KA's)

QUESTION: 096 (1.00)

WHICH ONE (1) of the following represents the point at which MODE 2 is entered

from MODE 3 during a reactor startup?

a. Reactor power reaches 1%.

b. K-eff {s greater than or equal to 1.0,

g The first control bank red is taken off the bottom of the core.

d. Reactor coolant temperature increases 2 degrees F above the

minimum temperature for criticality.

ANSWER: 096 (1.00)
C.
REFERENCE :
1. VEGP LO-LP-39202-06-C, pg. 11, 21,

2. 194001A106 [3.4/3.4)
3, Both RO and SRO.

194001A106 .. (KA's)
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QUESTION: 098 (1.00)

WHICH ONE (1) of the folloning is the MAXIMUM area temperature in which &
rson can perform a task WITHOUT the apnroval of the Health Physics
upervisor AND the Unit Shift Supervisor?

a
b

¢
d.

ANSWER:

REFERENCE :

dl

99 deuraes F.
104 degrees |,
114 degrees F.
119 degrees F.

098 (1.00)

1, VEGP LO-LP-63303-01, rev. 1, pg. 15, LO §.
2. 194001%'08 [3,.5/3.4)
3. Both RO and SRO.

194C01K108 . (KA'S)

QUESTION: 099 (1.00)
WHICH ONE (1) of the following completes the statement?

PY P W——

Emergency maintenance is any activity that.,.

“
b.

C.

...needs to be perf: med within 24 hours.
...18 critical to the schedule or safety.
...maintains safe shutdown or operating capability,

.., 15 performed on equipment that could cause a reactor trip
without special precautions being taken.
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ANSWER: 099 (1.00)
C.
REFERENCE :
1. VEGP, LO-LP-63350-06-C, pp. 10, & 1],

2. 194001A117 (3.1/4.1)
3. Both RO and SRO,

194001A112 o (A's)

QUESTION: 100 (1.00)

WHICH ONE (1) of the following radiological corditions requires posting as HOT
SPOT within an RCA?

8. General reading 5 mrem/hr with contact reading of 50 mrem/hr.

b. General reading 15 mrem/hr with contact reading of 200 mrem/hi .
€ General reading 50 mrem/hr with contact reading of 300 mrem/hr,
d. General reading 300 mrem/hr with contact reading of 1.0 Rem/hr,

ANSWER: 100 (1.00)
€.
REFERENCE :
]- V£GP 00930°C. rev. 50 gg- 2-
2. VEGP LO-LP-63930. pg. 7, LO 1.
3. 194001K103 R51.8/ 4)

4, Both RO and §
194001K103 . (KA's)

(tt*‘it*i*.ﬁ [ND OF EXANINATlON LA A ] ttttt)
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REACTOR OPERATOR
ANSWER KEY

MULTIPLE CHOICE 023 d
001 b 026 d
002 ¢ 025 b
003 a 026 «¢
004 d 027 ¢
008 ¢ 028 ¢
006 b 029 a
007 d 030 ¢
008 b 031 b
009 b 032 a
010 ¢ 033 d
011 d 034 ¢
012 a 035 b
013 d 036 b
014 a 037 b
015 ¢ 038 d
016 ¢ 039 b
017 b 040 ¢
018 ¢ 04 d
019 b 042 ¢
020 b 043 b
021 4 044 ¢
022 & 04 &






REACTOR OPERATOR Fage 3
ANSWER KEY

0¥2 b
093 b
094 b
095 ¢
096 «¢
097 b
098 d
099 ¢
100 ¢

(Qﬁti*iii** fND Or [XAMINATION ttti**titﬁ)

RN e el e e e e R
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RO txam PWYR Reactor
Organized by Question Number

QUESTION ~ VALUE  REFERENCE

001 1.00 8000001
002 1.00 8000002
003 1.00 8000003
004 1.00 8000004
005 1.00 8000005
006 1.00 235621
007 1.00 8000007
008 1.00 8000008
009 1.00 8000009
010 1.00 8000010
011 1.00 8000013
012 1.00 8000093
013 1.00 3000014
014 1.00 8000015
015 1.00 8000017
016 1.00 8000018
017 1.00 8000019
018 1,00 8000020
019 1.00 8000021
020 1.00 8000022
021 1.00 8000023
022 1,00 8000024
023 1.00 8000025
024 1,00 8000026
025 1.00 8000027
026 1.00 8000028
027 1.00 8000030
028 1.00 8000031
029 1.00 8000032
030 1.00 8000033
031 1.00 8000034
032 1.00 8000035
033 1.00 8000037
034 1.00 8000038
035 1.00 8000039
036 1.00 23655
037 1.00 8000029
038 1.00 80\ 4%
039 i.00 800L 43
040 1.00 8001 . 44
041 1.00 80r 4045
042 1.00 8000046
043 1.00 8000047
044 1.00 8000048
045 1.00 8000049
046 1.00 8000040
047 1.00 8000050
048 1.00 8000051
049 1.00 8000052




TEST CROSS REFERENCE

Exam

Organized by

QUESTION

050
05]
052
053
054
055
056
057
058
059
060
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075
076
077
078
079
080
08]
082
083
084
085
08¢
087
088
089
090
091
092
093
094
095
096
097
098

Dttt ettt e e L I S S S S S S —

PUR

VALUE

00
.00
00
.00
.00
.00
.00
.00
.00
.00
00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00

Reactor

Questio

REFERENCE

8000053
8000056
8000061
8000062
8000065
8000059
8000067
8000068
8000071
8000072
8000069
8000075
8000073
8000074
8000076
8000077
8000082
8000083
8000085
8000066
8000086
8000036
8000087
8000088
8000089
8000091
8000092
8000012
8000094
8000095
8000096
8000098
8000097
8000099
8000100
8000102
8000103
8000104
8000070
8000105
8000110
8000111
8000113
8000115
8000116
8000119
3000121
8000122
8000123

SRR o J

Number
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QUESTION  VALUE

099 1.00
100 1.0
100.00
100..00

tion Number
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REFERENCE

8000124
8000126
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TEST CROSS REFERENCE

RO Etxam PWR Reactor

Organized by KA Group

EMERGENCY PLANT EVOLUTIONS
Group |
QUES!ION  VALUE KA

051 1.00 00NOCCSAZ03
005 1.00 000C1SA122

052 1.00 000015G010
083 1.00 Q00024A206
054 1.00 000026K303
055 1.00 000027C010
056 1.00 000040A102
057 1.00 0000£1A202
059 1.00 000055G007
058 1,00 000055K102
060 1.00 000057A220
061 1.00 000067A105
062 1.00 000068A12]
063 1.00 000069A201
064 1.00 000074K304
065 1.00 0C2076A104

EPE-1 Total 16.00

Group il
QUESTION VALUE KA
066 1.0 000003G003
067 1.00 00007K301
068 1.00 000008A206
070 1.00 000009K101
069 1.00 000009K308
| 071 1.00 000011A111
| 072 1.00 000011K313
| 073 1.00 000022G011
074 1.00 000025K101
07% 1.00 000029K312
076 1.00 000032G0190
077 1.00 000033A211
c78 1.00 000037K307
079 1.00 00CD38A136
081 1.00 000054K101
080 1.00 000054K304
082 1.00 000058A203
083 1.00 000060A205
084 1.00 000061G00S

EPE-I1 Total 19.00



TEST CROSS REFERENCE

RO Exam

Organized

PWR

by KA Group

EMERGENCY PLANT EVOLUTIONS

Group 111
QUESTION VALUE
085 1.00
086 1.00
087 1.00
088 1.00
EPE-111 Total 4.00
EPE Total 39.00
Test Tota’ 100.00

KA
000028A20¢
000036K302
000056A247
000065A206

Reactor
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SENTOR REACTOR OPERATOR

QUESTION: 001 (1.00)

WHICH ONE (1) of the following conditions will generate a Rod Control Urgent
Failure alarm?

One rod in control bank D dropping.
One rod contrel motor generator tripping.

One rod group failing to move when demanded.

One +16.5 VDC power supply being interrupted to the slave cycler,

ANSWER: 001 (1.00)
C.
REFERENCE :
1. VEGP LO-LP-27101-14-C, pp. 26, & 27.
2. VEGP LO-LP-27102-09, pg. 9, 12, & 19, LO 6.

3. Both RO and SRO.
4. 001050K401 [3.4/3.8]

001050K401 .. (KA"s)

QUESTION: 002 (1.00)

WHICH ONE (1) of the following describes a feature of the Reactor Coslant Pump
Power supply non-Class 1-E breaker?

a. It has no closure interlock.
f o, It provides input to the reactor protection system.
5 C. It has an 86 lockout relay which is automatically reset.
d. It is interlocked open when the oil 1ift pump pressure is less

than 600 psig.
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ANSWER: 002 (1.00)
d.

REFERENCE

2. Siniar o £QB HNUM 23600, Vogile 1991:05.30.

3. Both RO and SRO.
4, 003000K201 [3.1/3.1]

003000K201 .. (KA's)

QUESTION: 003 (1.00)

WHICH ONE (1) of the following actions should be performed if the No. 1 snal
leakoff to No. 1 Reactor Coolant Pump (RCP) increases to 5.9 gpm?

a. Increase pressure in the VCT to 30 psig.

b. Throttle seal injection for No. 1 RCP to 8 gpm.

C. Shut the No. 1 seal ieakoff valve for No. 1 RCP.

d. Reduce RCS pressure to the range of 2220 and 2235 psig.

ANSWER: 003 (1.00)
5.
REFERENCE :
1. VEGP LO-LP-16401-10 pg. 18

2. Both RO and SRO.
3. 000015A122 [4.1/4.2]

000215A122 (\A's)
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QUESTION: 004 (1.00)
WHICH ONE (1) of the following satisfies criteria for starting a reactor
coolant pump in accordance with EOP 19002-C, "ES-0.2, Natural fircuiation
Cocldown"?

a. No. 1 seal leakoff - 1.0 gpm.

b. ACCW RCP CLR LO FLOW annunciator 1it.

B Seal injection flow to No. 1 RCP - 7.5 gpm.

d No. 1 seal differential pressure - greater than 407 psid,

ANSWER: 004 (1.00)
a, or d.
REFERENCE :
1. VEGP LO-LP-16401-10 pg. 17.
2. VEGP 19002-C, Attachment A.

3. SRO Only.
4. 003000K614 [2.6/2.9]

U03000K614 ..(KA's)

QUESTION: 005 (1.00)
WHICH ONE (1) of the following describes the eventual result of VCT level
channel LC-112 failing HIGH? Assume all controls are in au.omatic, and NO
operator action is taken.
a. HIGH VCT level and isolation of makeup from the blender.
b. LOW VCT level and loss of required NPSH to the charging pumps.
£s HIGH VCT level and continuous makeup from the blender to the VCT.

d. LOW VCT level and auto swap over of charging pump suction to the
RWST.



SENIOR REACTOR OPERATOR

ANSWER: 005
b.
REFERENCE :

VEGP LO-L
VEGP Text
FQB HNUM
Both RO a
. 004020A30

LS i P

004020A30

QUESTION: 006
The fullowin
- One
- The
- No.
- One

WHICH ONE (1
required to

a.
b.

C.

ANSWER: 006
d.

(1.00)

P-C9410-04-C, LO-TP-09401-002

5a, pg. 5a-37.

23521, Vogtle 1391-05-30.

nd SRO.
5 [3.2/3.0]

5 .. (KA'S)

(1.00)

g plant conditions exist:

75 gpm letdown orifice is in service.

45 gpm letdown orifice is in service,.

1 seal leak off is normal for ail reactor coolant pumps.
centrifugal charging pump is in service.

) of the following values is the expected charging flow rate
maintain a .teauy pressurizer level?

57 gpm.
87 gpm.
120 gpm.
132 gpm.

{1.00)
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REFERENCE :

. VEGP LO-LP-09001-04 pg. 25, LO 7.
. VEGP Text 5a, pg. 5a-5.

Both RO and SRO.

004020A303 [3.4/3.1)

B PO

004020A303 ..(KA"s)

QUESTION: 007 (1.00)

WHICH ONE (1) of the following conditions will actuate safety injection if the
unit is in MODE 17

a. Two (2) channels of T-avg reading 540 degrees F.

b. One (1) steam line has all channels reading 575 psig.
B, Two (2) channels of containment pressure readinc 3.6 psig.
d. Three (3) channels of pressurizer pressure rea.ing 1875 psig.

ANSWER: 007 (1.00)
b,
REFERENCE :
VEGP LO-LP-28103-11-C, pp. 38, & 49.
VEGP Text B8a, rev. 1, pp. Ba-72, & 73.

. Both RO and 5RO,
. 01300CA301 [3.7/3.9]

B LD P

013000A301 ..(KA's)
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QUESTION: 008 (1.00)

WHICH ONE (1) of the following conditions is required prior to resetting
safety injection following an inadvertent actuation?

a. Containment Isolation Phase A must b2 reset.
b. Any ECCS pumps which started must ba stopped.
- Both reactor trip breakers and bypass breakers must be open.

d. Less than 60 seconds must have elapsed since S1 was activated.

ANSWER: 008 (1.00)

C.

REFERENCE :

1. VEGP LO-LP-28]03-11-C, pp. 7, 23, & 54.

2. EQB HNUM 19104, Vogtle 1990-06-25, modified.
3. Both RO «nd SRO.

4. 013000K401 [3.9/4.3]

013000K401 ..(KA"s)

QUEST(C4: 009 (°.00)

WHICH ONE (1) of the following “ailures will cause the set point for the rod
insertion limit to INCREASE?

a. T-hot transmitter TE-411A fails LOW.
b. T-cold transmitter TE-4118B fails LOW.
C. Turbine impulse pressure channel PT-505 fails HIGH.

d. Power range nuclear instrument channel N-41 fails HIGH.



SENJOR REACTOR OPERATOR Page 8

ANSWER: 009 (1.00)
b.
REFERENCE :

. VEGP Text 6, pp. 6a-24, & 25.

. VEGP drwg. 1X4DBI11Z.

. VEGP Logic Fig. 7.2.1-1, shts. 9, & 16.
. SRO Only.

. 0140006012 [2.9/3.1]

O & WM

0140006012 . (KA's)

QUESTION: 010 (1.00)

WHICH ONE (1) of the following conditions will! cause a "ROD DEVIATION/RADIAL
TILT" alarm during a rod withdrawal?

a. Central control card failure.
b, Control Bank B moving before Control Bank A.
By 12-step difference between any two control barnks,

d. Shut down bank rod less than 228 steps after reaching 100 percent
power .

ANSWER: 010 (1.00)
b.
REFERENCE :
VEGP LO-LP-27201-07, pp. 13, & 14, (0 7f.
£QB HNUM 23603, Vogtle 1991-05-31, mudified.

Both RO and SRO.
0140006008 [2.9/3.1]

B I PO

0140006008 L (KP's)
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QUESTION: 011 (1.00)

PHICH ONE (1) of the following describes an effect of power range channel N-42
upper detector failing HIGH?

a. Reactor trips on high flux.
b. Main feed regulating valves open.
P Control rods step out to high bank rod stop.

d. OT delta T setpoint for one channel decreases.

ANSWER: 011 (1.00)
d.
REFCRENCE :

NRC Sys. Man. PWR Westinghouse Chapt 12, rev. 1287, pp. 12-11, & 12-13.
VEGP Text 3c, rev. 5, pp. 3¢-20, 21, & Fig. 3C-1,

Text 8a, rev. 1, pg. Ba-24, Text 13a, rev. 9, pg. 13a-62.

VEGP LO-LP-28103-11-C, pg. 42, LO 4g2c.

. Both RO and SRO.

. 015000K1N] [4.1/4.2]

o B W BN -

015000K101 ..(KA's)
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QUESTION- 012
The following plant conditions exist:

.

Unit
Inte

(1.20)

1 is in MODE 2 at 1 percent power,
rmediate range instrument N-35 indicates 23 percent equivalent ion

chamber amps.

NIS

HI FLUX IR REACTOR TRIP annunciator is NOT 1it.

kxcept as noted all plant equipmert is operating normally.

WHICH ONE (1) of the following conditions is also consistent with these
indications?

a.
b.

c.

ANSWER:

012

REFERENCE :

VEGP 17009-1, rev. 4, pg. 18.
VESP 17210-1, rev. 15, pg. 40.
VEaP LO-LP-60302-03, pg. 9.

O U BN e

Control rods fail to move outward in manual.

Source range nuclear instrument detectors energize.

INTMD RANGE COMP JOLTAGE FAILURE annunciacor is Tit.

NIS HI FLUX LO SET POINT PWR RNG RX TRP annunciator is 1it,

(1.00)

. VEGP Text 6a, rev. 3, pg. 6a-25.

VEGP logics, Fig. 7.2.1-1, shts. 3, & 4,
Both RO and SRO.

. 015000K103 [3.1/3.1]

015000K103 ..(KA's)
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QUESTION: 013 (1.00)

WHICH ONE (1) of the following will cause incore thermocouples to read HIGH?

Broken junction weld at the detector.

Breakdown of thermocouple wire insulation.

El Short circuit between detector wires at the junction box.
d. Open circuit in the plant computer RTD in thke reference junction
box.

ANSWER: 013 (1.00)
d.
REFERENCE :
1. VEGP LO-LP-36102-04-C, op. 14, 19, & 20, 1O 7.

2. 017020A201 (3.1/3.5]
3. Both RO and SRO.

017020A201 .+ (KA's)

QUESTION: 014 (1.00)

WHICH ONE (1) of the following reflects the position of containment spray
components if three (3) containment pressure channels indicate 22 psig”

a. RWST isolatiun valves - closed.

b. Spray additive isolation valves - closed.
c. Containment sump isoletion valves - open.
d. Spray header isolation valves - open,

ANSWER: 014 (1.00)
d.



SENIOR ..EACTOR OPERATOR Page 12

REFERENCE :
1. VEGP LO-LP-15101-09, pp. 12, 17, & LO-TP-15101-003.
2. VEGP Text 9b, rev. 7, pg. 9b-11.

3, SRO O 1y.
4. 026000A301 [4.3/4.5)

0260('0A301 . (KA's)

QUESTION: 015 (1.00)

WHICH ONE (1) of the frilowing corditions will automatically start a standby
congensate pump?

a. Cundensate pump suction prassure at 20 inches Hg.
b Condensate pump discharge pres.vre at 650 p.ig.
g4 Maii feed water pump suction pressure a. 50 psig.

d Main feed water pump discharge pressure at '250 psig.

ANSWER: .15 ({1.00)
c.
REFERENCE :
1. VEGP Texc 13a, rev. S, pp. .3a-49, & 65.

2. Both RO and SRi.
3. 0531 )0K103 [2.6/2.6)

056000K10? ..(KA's)
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QUESTION: 016 (1.00)
The following plant conditions exis*.
- Unit 1 has tripped from 100 percent nuwer.
< Twa (2) steam ?enerators indicate narvow range levels of V'3 percent.
- Three (3) RCS vop T-avg inctruments indicate 58z degrees F.

WUICH ONE f1) of the following automatic actiuns sheuld have occurred?

a. Main condensate pumps trip,

b Main feed water pumps crip.

£« Main feed water isolation valves close,

G. Main feed pump discharge iso!ation valves (lo.e.

ANSWER: 016 (1.00)
c.
Rev ERUNCE
. JFGY Text 8a, rev. 1, pp. B8a-30, & 74, Text 1Ja, rev. §, pg. 13a-54.
. VEGK LO-LP-18201-11-C, pp. 16, & 19.

1

2

3. Both RO and SRO.

4. 0590C0/.306 [3.2/3.3]

059000A306 . (KA's)
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QUESTION: C.7 (1.00)
The following plant conditions exist.

- Unit 1 is at 12 percent power.
- Steam Generator Water Level controls are in automatic.

, WHICH ONE (1) of the follow.ng failures will cause the bypass feed reyulating
valve to for SG-1 te OPEN?

a. Nuclear instrument channel N-44 fails HIGH.

b. No. 1 SG controlling level instrument LT-519 fails LOW.

£, No. 1 SG controlling feed flow instrument FT-510 fails LOW.
d. No. 1 SG controlling steam flow instrument F7-512 fails HIGH.

ANSWER: 017 (1.00)
b.
REFERENC :
VEGP LO-LP-18501-08-C, pp. 26, LO-TP-18501-003, & 004.
VEGP Text 13a, rev. 9, pp. 13a-26, 48, & 62.

. Both RO and SRO.
059000K104 [3.4/3.4]

B PO e

059C00K104 .. (KA's)
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QUESTION: 018 ({1.00)

WHICH ONE (1) of the foliowing conditions will start both motor driven AND the
turbine driven auxiliary feed water pumps?

a. Both steam generator feed pumps trip.
b. Three (3) pressurizer pressure channels reading 1750 psig.
s Three (3) controlling feedwater flow channels at 19 percent and

both turbine impulse pressure channels at 45 percent.

d. Three (3) NR steam generator level channels for S5G-4 at 17 percent
and both turbine impulse pressure channels at 45 percent.

ANSWER: 018 (1.00)
.
REFERENCE :

VEGP Logics, Fig. 7.2.1-1, shts. 7, 15, & 16.
VEGP LO-LP-20101-15-C, pp. 56, & 57,

. VEGP LO-LP-28103-11-C, pg. 35, L0 1.

. Botn RO and SRO.

. 061000K402 [4.5/4.C)

B O

061000K402 . (KA's)
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ANSWER: 020 (1.00)
d.

REFERENCE :

. EQB HNUM 19115, Vogtle 1990-06-25, modified.
. VEGP LO-LF-32101-13-C, pp. 19, & 20.

VEGP Text 1la, rev. 7, pg. 1la-30.

VEGP 17005-1, rev. 12, pp. 8, & 13.

. VEGP LO-LP-29160-07, pg. 10.

. both RO and SRO,

072000K401] [3.3/3.6]

O U B LD D e

072000K401 «(KA's)

QUESTION: 021 (1.00)

WHICH ONE (1) of the following RCP pump combinations will result in loss of
all normal pressurizer sprays if deenergized?

a. RCP 1 and RCP 2.
b. RCP 2 and RCP 3.
N RCP 3 and RCP 4,
d. RCP 4 and RCP 1,

ANSWER: 021 (1.00)
d.
REFERENCE :
VEGP LO-LP-16001-09, pg. 14.
. VEGP Text, rev. 6, pg. lc-4.

Both RO and SRO.
002000K109 (¢4.1/4.1]

D PO e

002000K109 ..(KA’s)
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QUESTION: 022 (1.00)
The following plant conditiors exist:
- Hnit ) 13 in MODE 2.
~ Accumulator isolacion valves are closed.
~ Power is available to the accumulator isolation valves.

WHICH OME (1) of the following conditions would cause an accumulator isolation
/Alve to open automatically?

a. One (1) containment pressure channels reading 20 psig.

b. Two (2) containment pressure channels reading 5.1 psig.

c. Two (2) pressurizer pressure channels reading 1925 psig.
d. Three (3) pressurizer pressure channels reading 1975 psig.

ANSWER: 022 (1.00)
b. or d.
REFERENCE :
1, VEGP LO-LP-13401-10-C, op. 9, & 10, LO 4.
2. VEGP LO-1P-28703-11-C, pg. 38.
3. VEGP Text 92, rev. 4, pg. %9a-17.

4. Both RD 2nd SRO.
5. 006030K404 [3.9/4.1]

006030K404 ..(KA's)
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QUESTION: 023 (1.00)

WHICH ONE (1) of the following describes the flowpath of the RHR system during
Hot Leg Recirculation?

a. Water {rom the RCS hot legs is pumped ty the RHR pumps through the
RHR heat exchangers and returned to all four RCS cold legs.

h, Water from the RCS hot legs is pumped by both RHR pumps through
the RHR heat exchanger bypasses and then to all four RCS hot legs.

S+ Water from the containment emergency sumps is pumped by the RHR
pumps through the RHR heat exchangers and then to the RCS hot legs
1 and 4.

d. Water from the containment emergency sumps is pumped by both RHR

pumps through the RHR heat exchanger bypass piping and then to the
RCS hot legs 1 and 4.

ANSWER: 03 (1.00)
C.
REFERENCE :
. VEGP LO-LP-13301-06-C, pp. 16, & 17.
EQB HNUM 23673, Vogtle 1991-05-31, modified.

Both RO and SRO,
006030K403 [3.4/3.€]

B PO e

006030K403 .. (KA's)
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QUESTION: 025 (1.00)
The following plant conditions exist:

- Unit 2 is in MODE 2.

- One (1) of the two switches for the Source Range Biock permissive at
P-6 has been placed in "BLOCK" momentarily.

- Power level is increasing toward the point of adding heat.

WHICH ONE (1) of the fol rsina describes the effect this alignment will have
on plant equipment operations?

a.
b.

c.

ANSWER:
a.
REFERENCE :

PO -

02%

A Source Range high flux trip will occur,
One Source Range detector will be damaged.
An Intermediate Range high flux trip will occur,

Both Source Range detectors will become saturated.

(1.00)

. VEGP LO-LP-28103-11-C, pg. 14.

EQB HNUM 23612, Vogtle 1991-05-31, modified,
Both RO and SRO.

. 012000K6C4 [3.3/3.6]

012000K604 «+(KA's)
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QUESTION: 026 (1.00)

WHICH ONE (1) of the following reactor trips is based on preventing departure
from nucleate boiling?

a. Pressurizer high pressure,
b Steam generator low-low level,
L Power range flux negative rate.

d. Power range high flux high set point.

ANSWER: 026 (1.00)
C.
REFERENCE :
. VEGP 10-LP-28103-11-C, pp. 15, 16, & 17,

1
2. Botk ™ and SRO.
3. 012050402 [3.9/4.3]

012000K402 ..(KA's)

QUESTION: 027 (1.00)

WHICH ONE (1) of the foilowing sets of pressure instruments provide cold over
pressure protection fu~ the reactor coolant system?

a. Wide rang: transmitter PT-403 and PT-405 from loops 1 and 4.
h, Wide ~ange transmitter PT-404 and PT-406 from loops 2 and 3.
C. Fres arizer pressure channels I and 111, PT-455 and PT-457,

d. Pre.surizer pressure channels Il anJ iV, PT-456 and PT-458.

ANSWER: 027 (1.00)
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REFERENCE :
1. VEGP Text la, rev. 6, pg. la-21.
VEGP Logic Fig. 7.2.1-1, sht. 6, rev. 8,

2.
3. Both RO and SRO.
4. 016000K10] [3.4/3.4,

016000K101 ««(KA'S)

QUESTION: 028 (1.00)
WHICH ONE (1) of the foll.wing describes the response of the containment purge
system to a phase A containment isolation? Assume that the line ups are
normal for MODE 1.
a, Mini-purge fans start.
b. Normal purge fan starts,
$i Mini-purge valves, AOV-2627B, and 2629B close.

d. Normal purge valves, MOV-2626A and 2628B, c’ose.

ANSWER: 028 (1.00)
c.
REFERENCE :
1. VEGP Text 24f, rev. 5, pp. 24f-19, & 22, Fig. 24f-2.

2. Both RO and SRO.
3. 029000A301 [3.8/4.0)

029000A301 (KA $)
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QUESTION: 929 (1.00)

WHICH ONE (1) of the following is the preferred (normal) source of make-up to
the spent fuel pool to replace evaporative losses?

a. Boron recycle system,
b. Demineralized Water System.
s Refueling Water Storage Tank.

d. Reactor Makeup Water Steorage Tank.

~SWER: 029 (1.00)
b.
REFERENCE :

VEGP LO-LP-25102-09-C, pg. 10,

. VEGP Text 18b, rev. 2, pg. 18b-6.

EQB HNUM 23613, VYngtle 1991-05-31, modified.
Both RO and SRO.

033000K401 [2.9/3.2]

L2 i

033000K401 .. (KA's)

QUESTION: 030 (1.00)

WHICH ONE (1) of tne following fuel handling comporients or functions is
controlled at the containment building console?

a. Crane inte~lock bypass.
b. Bridge interlock bypass.
L. Enable fuel transfer cart movement.

d. Operate fuel transfer tube isolation valve.
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ANSWER: 030 (1.00)
c.
REFFRENCE
', VEGP LO-LP-25101-11-C, pp. 59, & 60, LO Fa, & b.

2. Both RO and SN0,
3. 0340006009 (3.0/3.0]

0340006009 o (KA'S)

QUESTION: 031 (1.90)

WHICH ONE (1) of the following signals w111 cause the Steam Generator Blowdown
sample isolation velves to automatically close?

7 18 Feedwater isolation signal.

> Motor ariven AFW auto start signal.

c Containment isolation phase A signal.

d. RE-"02]1 steam generator blowdown high radiaticn signal.

ANSWER: 031 (1.00)
b
REFERENCE :
2 :agpnkgﬁlsxggg?l§égi1ggioé?ios-ax.

3. Both RO and SPO.
4. 035010K403 [2.6/2.8]

035010K403 . (KA's)

R R P PR —
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QUESTION: 032 (1.00)
Th: tollowing plant o 1t ws exist:
- Unit 1 s at 65 percent power,
- Steam generator water lovel control is in automatic,
« No, 1 SG steam flow selector is in the 512 position,
- The associated steam pressure transmitter PT-514 fails HIGH.

WHICH **° (1) of the following describes system response to this failure?

a. Main feed water pumps reduce speed.
b. Main feedwater regulating valves throttle open.
C. SG 1 atwospheric relief valve opens on WIGH SG pressure,
| P Reactor trip breakers onen on HIGH steam cenerator water level.

FNSWER: 032 (1.00)
b.
REFERENCE :
1. VEGP LO-LP-18501-08-C, pg. 24, LO 10,
VEGP Text, rev, 9, Fig. 13a-25.
VEGP Orwg. 1X4UBI6R-3, rev, £1.

3.

3.

4, Both RO and SRf,

5. 035010A301] [4.1/3.9)

0350107301 . (KA"s)
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ANSWER: 034 (1.00)
b.
REFERENCE :
1. VEGP drwg 1X30D-AA-AQIA rev. 16, & 1X3D-AA-DO4A rev. 8.

2. Both RO and SRO,
3. 062000201  (3.3/3.4)

062000k201  ..(KA's)

QUESTION: 035 (1.00)
KHICH ONE (1) of the foliowing systems is the preferred alternative source of
water for the nuclear service cooling towers 1f the nuclear service cooling
'ower make up pumps are not serviceable?
a. Potable water,
b. Ut1lity water.
s Circulating water,

d. River make up water.

ANSWER: 035 (1.00)
d.
REFERENCE :
1. VEGF Text 10h, rev. 3, pg. 10h-2, Text 10j, rev. 4, Fig. 10j-1.

2. Both RO and SRO.
3. 0750M0K108 [3.2/3.2]

075000K108 . (KA's)
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QUESTION: 036 (1.00)

WHICH ONE (1) of the following 15 a function of the Local Suppression
Indicating Panels of the Fire Detection System?

a. Provides readout of fire system instrumentation in the control
room,

b. Monitors fire detectors, processes trouble signals, and generates
alarms,

c. Provides signals to actuate fire rrotection systems and monitors

fire protection system status.

d. Monitors status of which detectors in a zone are in an alarm
condit .on when a zone contains many detectors.

ANSWER: 036 (1.00)
¢
REFERENCE :
VEGP LO-LP-22101-04-C, pp. 7, & B,
EQB HNUM 23659, Vogtle 1891-05~31. modified.

1.

B

3. Both RO and SRO.

4. 0860006007 [3.0/3.2)

0860006007 v (KA's)

QUESTION: 037 (1.00)
WHICH ONE (1) of the following conditions satisfies one of the opening
criteria for the "A" train Residual Meal Removal System Toop suction isolation
valves, HV-8701A and HV-B7018B?
a. RWST suction valve BBI2B is closed.
b. Charging pump suction BBO4A is closed.
. Wide range RCS pressivre equals 380 psig.

d. Safety injection suction valve 88045 15 open.
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ANSWER: 037 (1.00)
b.
REFERENCE :
. VEGP Text 10a, rev. 7, pg. l0a-16.

1
2, Both RO and SRO,
3. 005000K407 (3.2/3.5)

005000K407 o (KA'S)

QUESTION: 038 (1.00)

WHICH ONE (1) of the following conditions will partially satisfy criteria for
arming the steam dumps?

a. Reactor trip breakers are open.

b. Impulse pressure channel PT-505 failed LOW.

B Impulse pressure channel PT-506 failed HIGH.

d. Two (2) RCS loop temperature channels reading 548 degrees F.

ANSWER: 038 (1.00)
a.
REFERENCE :
1. VEGP Text 8a, rev. 1, pp. Ba-39, & 42, Text 12b, rev. 4, py. 12b-16.

2. Both RO and SRO.
3. 041020K417 [3.7/3.9)

041020K417 «(KA's)
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QUESTION: 039 (1.00)

WHICH ONE (1) of the foliowing sets of turbine steam valves will ONLY close
automatically as the result of a turbine trip?

a. Turbine control valves,
b. Intermediate stop valves.
€. Modulated intercept valves.

d. Non-modulated intercept valves.

ANSWER: 039 (1.00)
b.
REFERENCE :
1. VEGP fext l4a, rev. 6, pp. 14a-4, & 5,

2. Both RO and SRO,
3. 045000K111 (3.6/3.7]

045010K111 v (KA's,
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QUESTION: 040

(1.00)

The following plant conditions exist:

< A1l plant systems are operating as designed.
- Nuclear Service Cooling Water (NSCW) pumps 1 and 3 »re operating in

train "A",

WHICH ONE (1) of the following describes the system response if the No. 1 NSCW

pump trips?
a.

b.

cl

ANSWER:

b.
REFERENCE :

. VEGP Text 10d. rev. 7, pg. 10d-13.

. VEGP LO-LP-06101-18-C, pg. 32, LO 10 & 12.
. Both RO and SRO.

. 076000K402 [2.9/3.2)

B O e

NSCW pump 2 starts immediately.
Discharge valve for NSCW pump & opens in 40 to 45 seconds.
NSCW pump 2 startes whe its discharge valve is full open.

Tower bypass/return vaives stroke closed to maintain system
pressure.

040 (1.00)

076000K802 .. (K/'s)
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REFERENCE :

1. VEGP LO-LP-27101-14-C, pg. LO-TP-27101-004,
2. SRO Only.
3. 000001K105 [3.5/3.8)

000001K105 (KA'S)

QUESTION: v43 (1.00)

WHICH ONE (1) of the following explains the reason for consulting Reactor
Engineering prior to recovery of a dropped rod?

a. Uneven core turn up may cause a revision of the AFD limits.

h, Xenon transients following recovery may cause localized flux
peaking.

£, Power peaking next to a dropped red may have exceeded core thermal
Timits.

d. Radial flux deviation measurements must be taken for the Cycle

Operating Limits Report.

ANSWER: 043 (1.00)
b.
REFERENCE :
1. VEGP LO-LP-60303-1:-C, pp. 29, & 30,
2. VEGP Text 6a, rev. 3, Fig. 6-26.
3. SRO Only.
4. 000003K304 [3.8/4.1)

0000C3K304 . (KA'S)
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QUESTION: 044 (1.00)
The following plant conditions exist:
« Unit 1 has tripped from 100 percent power.
- EOP 19000-C, "E-D, Reactor Trip or Safety Injection," was enterea and

a transition to EOP 1900]1-C, "ES-0.1, Reactor 1. . Response," was
made .

- Digital rod position indicator shows Rods P-4 and B-12 at 228 steps,
and Rod D-12 at 200 steps.
WHICH ONE (1) of the foliowing - ifons is required per EOP-19001, "ES-0.1"?
a. Emergency borate 104 ppm total.
b. Emergency borate 3(2 ppm total.
g, Manually drive the stuck rods to the bottom.

d. Notify Reactor Engineering to run incore flux maps.

ANSWER: 044 (1.0C
b.
REFERENCE:
. VEGP 19001-C (ES-0.1) vrev, 11, py. 3.
. VEGP Text 6a, rev. 3, Fig. 6-26,

. Both RO and SRO.
. 000005A203 [3.5/4.4]

B PO

000005A203 (KA'g)
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QUESTION: 045 (1.07)
The following plant coiditions exist:

< A larae break LOCA has occurred on Unit 1,
« RWST level is at 9 percent,

WHICH ONE (1) of the following desc ibes the action that should occur as &

fl res. 1t of this RWSY Tevel?

a. RWST to Emevoency Sump semi-automatic swapover.
b. RWET isolation valves are closed automatically.
Spray additive isolation valves are manually closed,

d. Containment emergency sump pumps start automatically.

ANSWER- 045 (1.00)
C.
REFERENCE :
1. VEGP LO-LP-15101-09, pg. 7, LO 8,

2. Both RO und SRO,
3. 000011A111 (4.2/4.2)

000011A111 . (KA'S)
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QUESTION: C46 (:.00)
The following plant conditions exist:

« Reactor trip has occurred.
« Pressurizer pressure is at 1600 psig and dropping rapidly

WHICH ONE (1) of the following conditions satisfy criteria for tripping all of
the reactor coolant pumps?

a One AFW pump running, RCS pressure at 1360 psig.
b. One CCP pump unning, RCS pressure at 1370 psig.
¢, Two S1 pumps running, RCS pressure at 1380 p:ig.
d. Two RHR pumps ruaning, RCS pressure at 1390 psig.

ANSWER: 046 (1.00)
b.
REFERENCE :
1. VEGP 19000-C, rev, 11, Foldout page.

2. SRO Only.
3. 000011A103 [4.0/4.0]

000011A103 . (KA's)
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QUESTION: 047 (1.90)
The to)lowing plant conditions exist:

- Unit 2 1s at 45 percent power,

< RCP TRIP annunciator 1it,

< RCP LOOP 3 LOW FLOW ALERT annunciator 1it.
- LOOP 3 RTD BYPASS LO FLOW annunciator 1it.

WHICH ONE (1) of the fallowing actions is an IMMEDIAIE ACTION for this event
per VEGP 18005-C, "Partial Loss of Flow"?

a, Verify No. 3 steam generator level is trending to 50 percent.

b. Verify No. 3 steam generator level is trending to 65 percent.

& Verify Nos. 1, 2, and 4 steam generator levels are between 45 4
55 percent.

d. Verify Nos. 1, 2, and 4 steam generator levels are between 60 wund
70 percent,

ANSWER: 047 (1.00)
b,
REFEREWCE :
1. VEGP 18005-C, rev. 5, pp. 1, & 2.

2. Both RO and SRO.
3. 0000156010 [3.4/3.4)

0000156010 .. (KA's)
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QUESTION: 048 (1.00)
The following nlant conditions exist:

« Unit & has tripped from 100 percent power due to a loss of off-site
power.

< A1l but 3 rod bottom lights are 1it,

« 3 control rods are at 224 steps.

< A and B emergency diesel generators are running and loaded.

< A und B charging gumps are running.
Operators are in EOP 19001-C, "£5-C.1, Reactor Trip Response."

.

WHICH ONE (1) of the follouing is the required operator action 1y enture
adequate shutdoun margin for this event?

a. Open RWST 1solation valves 1 LV-01120 and 1-LV-0i)2f
0. Manually control VCT level betwoen 30 and 50 percent.
g Place the blender control switch to the AUTO position.

d. Start one (15 Keao..r Make Up pump and reset the Boric Acid Blend
Control, 1-FQI-0i11,

ANCWER: 048 (1.00)
a.
REFERENCE :
1. VEGP 13C06-9 rev. 8. pp. 5, & 13,
VEGP 199001-C, rev. 11, pg. 3.

2.
3. Both RO and SRO,
4. 0000244206 [3.6/3.7]

000024A206 . (KA's)
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QUESTION: 049 (1.00)
WHICH ONE (1) of the following conditions require an emergency boration?

a. Control rod bank D <tepping out without an apparent cause while in

MODE 1.

b. SOURCE RANGE HIGH FLUX AT SHUT DOWN annunciator in alarm while in
MoDE 3.

<. Reactor Engineering rogorts that the shutdown margin equals 1.2 %
delta k/k while in MODE 1.

d. Power range instruments indicate that ficifon power has doubled in
the past three minutes while in MODE 2.

ANSWER: 049 (1.00)
b.
REFERENCE -

1. VEG® 17910~ v, 15, pp. 17, & 18.

2. VEGP C''% - 1, cycle 3, pg. 2.

’l VEG'- " l'\i: 3cl-ltls

4. VEGP LO '+ "® 92-03-C, pp. 17, & 21, LO la3.
5. SRO Onl

6. 000024301 (4.1/4.4)

000024K301 o (KA's)
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QUESTION: 050 (1.00)
The following plant conditions exist:

« Unit 2 is in MODE 6.

< Reactor water level is 22 feet above the flange.

- RHR gump A is o oflting.

« CCW TRAIN A LO HDR PRESS annunciator 11t

« CCW TRAIN A 1O FLOW annunciator 1it.

« CCW TRAIN A RHR PMP SEAL LOW FLOW annunciator 11t
« CCW TRAIN A RHR HX LO FLOW annunciator 14t

WHICH ONE (1) of the following is a required action for these conditions?

a. Reduce leve' in the Train B CCW surge tank to 35 percent,

b. Increase lTevel in the Train B CCW surge tank to 65 percent,
c. Reduce the reactor water level to 2] feet above the flango.
d, Increase the raactor water level to 23 feet above the flange.

ANSWER: 050 (1.00)
d.
REFERENCE :
. VEGP Tech Spec 3.9.8.2.
. VEGP 18020-C, rev. 5, pg. 1, & 2.

. SRO Only.
. 0000266003 [3.1/3.6]

& T

0000266003 «.(KA's)
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QU.STION: 052 {1.00)

WHICH ONE (1) of the following conditions will NOT satisfy the criteria for
ruturning to the procedure and step in effect from EOP-19211-C "FR-S.]
Response to Nuclear Power Generation/ATWT," Step 47

. A1l power range chanrels indicate 0 percent power AND both
intermediate rate neters indicate +1.0 dpm,

b. All power vange channels indicate 1 percent power AND both
intermediate range rate meters indicates zero dpm.

C. A1l power range channels indicate 4 percent power AND both
intermediate range rate meter. indicate zero dpm,

d. A1 power range channels indicate 5 percent power AND both
intermediate range rate meters indicate -.20 dpm,

ANSWER: 082 (1.00)
a.

REFERENCE :

1. VEGP lext 3b, vev. 3, Fig. 3b-1, Text 3c, rev. 5, Fig. 3c-6,

2. VEGP LO-LP-37041-05-C, pg. 14, LO 9.

3. VEGP 19211-C, rev. 6, pp. 2 & 7.

A. SRO Only.

£, 000029G012 14,1/4.2)

0000296012 (KA's)
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QUESTION: 053 (1.00)
WHICH ONE (1) of the following i, the reason for ensuring thal RCS pressure f.
less than 2335 psig in step § of EOP 19211-C "FR-S.] Response to Nuclear Power
Generation/ATW1"?
a. Prevents the PRT rupture dicc from burstirg due to a PORV 1ifting,

b. Ensures that the injection rate of boric acid into the core is
sufficient,

C. Ensures that the PORV's a~e oper.ting properly to prevert the code
safety valves from 1ifting.

d. Prevents the PORVs from open’.ag and 'iverting a portien of the
full fMow of boric acid frc. the core,

ANSWER:  0L% (1.00)
b.
REFERENCE :
1. VEGP 19211-C, rev. 6, pg. 3.
2. VEGP LO-LP-37041-05-C, pg. 13, LO 7.
2. EQB HNUM 19147, Vogtle 19%0-06-25, modified.
5.

Both RO and SRO.
0U0029K312 [3.4/4.7]

000029K312 o (KA's)
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QUESTION: 054 (1.00)

The following plant conditions exist:
« Unit 1 is at 45 percent power.
- TURB CNDSR LO VAC annunciator 1it.
« Condenser vacuum reads 20.5 inches Hg.

WHICH OHE (1) of the foliowing should have occurred?

a. Turdbine rur back,
b. Turbine trip onl:
18 Reactor trip initiating a turbire trip.
d. Turbine trip initiating a reactor trip.

ANSWER: 054 (1.00)
b.
REFERENCE :
1. VEGP 17019-1, rev. 8, pp. 11, & 19,

2. Both RO and SRO,
3. 000051A202 [3.9/4.1)

000051A202 . (KA"s)
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QUESTION:

055 (1.00)

The tollowing plant conditions exist:

< Off site power is lost.
- Emergency diasel}gonorators fa ' to start,

« RCS pressure is

00 psig.

WHICH ONE (1) of the following is a concern rc?arding the plant coolaown

performed in EOP 19100-C, "ECA-0.0, Loss of Al

a,
b,
C.
d.
ANSWER :
d.
REFERENCE :
1
2
3
4
&

AL"?

Mixing of injected boron is poor during the cooldown.
Accumulator injection will cause counter flow forces,
Reactor outlet temperatures approximate steam generator
temperatures,
Positive reactivity is added during steam generator
depressurization.

055 (1.00)

. VEGP 19002- ", rev. 8, pg. 2.

. VEG' l’lOO’L. rev. 7' pgc 21-

. VEGP LO-LP-37031-07-C, pg. 14, LO §.
. Both RO and SRO.

. 000055K102 [4.1/4.4)

000055K102 (KA's)

R T P TR | P PP P —



SENIOR REACTOR OPERATGR Page 47

QUEST.ON: 056 (1.00)

WHICH ONE (1) of the following is intended to preserve battery life according |
to VEGP 19100-C, "ECA-0.0, Loss of All AC Power"?

a. Dump steam using PV-3C00,
b. Place RHR pumps in pull to lock.
Open only one AFW valve at a time,.

d. Shut only one condensate makeup valve,

ANSWER: 056 (1.00)
c.,
REFERENCE :
VEGP 19100-C, rev. 7, pp. 11, & 12.

l.
2. SRO Only.
3. 000055302  [4.3/4.6)

000055k302 ++(KA's)

QUESTION: 057 (1.00)

WHICH ONE (1) of the following vita) instrument panels, if deenergized, will
result in a less of the Train B sequencer?

a. INYIN,
b. INY2N.
c.  1BY1B.
d.  1BY2B.

ANSWER: 087 (1.00)
d.
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REFERENCE :
1. VEGF LO-LP-60324-04-C, pp. 57, & 38, LO 4c.

2. Both RO and SRO.
3. 000057A220 (3.6/3.9)

0000574220 (KA's)

QUESTION: 058 (1.00)
The following plant conditions exist:

< Unit 1 1s in MNODL 2.
- RV-18, Radioactive Waste Discharge Isolation Valve, CLOSES.

WHICH ONE (1) of the following is the cause of this event?
a. Floor drain tank level exceeded 95 percent,
b. waste monitor tank level exceeded 5 percent.
i Total discharge flow to the river is 4750 gpm.
d. Waste Gas Processing Effluent Monitor ARE-0014 reads 100 cpm.

ANSWER: 058 (1.00)
¢,
REFERENCE :

1. VEGP Text 1la, rev. 7, pp. 15, & 16,
2. VECP Text 17b, rev. 9, pg. 20, & 24,
3, Similar to RO KA 068000A302.

4. SRG Only.

5. 000059A206 [3.5/3.8)

0C0059A206 . (KA'S)
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QUESTION: 061 (1.00)

WHICH ONE (1) of the following explains why the RCPs are tripped early in the
response to a loss of secondary heat sink?

a. To eliminate the heat input from the RCPs.
b. To protect the RCPs from potential seal damage.

g, To ensure that natural circulation is established.
d. Te prevent the RCPs from causing an RCS depressurization
transient.

ANSWER: 061 (1.. )
a.
REFERENCE :
1. VEGP LO-LP-37051-07-C, pg. 10.
EQB HNUM 23640, Vogtle 1991-05-31, modified.

2
3. Both RO and SRO,
4. 000074K304 [3.9/4.2]

000074K304 «(KA's)

QUESTION: 062 (1.00)
WHICH ONE (1) of the following completes the statement?

Flow through the Gross Failed Fuel Oetector may be secured by operating valves
from the ___or the _ T

a. OQMCB, Nuclear Sampling Panel.
b. QPCP, Nuclear Sampling Panel,
Cs (MCB, Gross Failed Fuel Detector Panel.
d. QPCP, Gross Failed Fuel Detaclor Panel.
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QUESTION: 065 (1.00)
The following plant conditions exist:

« Unit 1 has Tripped from 100 percent power.

- Reactor trip breakers are open,

- The transition from EOP 19000-C, "E-0, Reactor Trip or Safety
Injection," to FOP 19001-C, "ES-0.1, Reactor Trip Response," is made.

WHICH ONE (1) of the following describes the basis for throttling AFW flow to
the minimum value immediately following the reactor trip?

a. Prevents autumatic safety injection.
b. Enhances reduction of RCS stored energy.
g, Preserves inventory of the Condensate Storage Tank.

d. Ensures AFW flow is within the capacity of the AFW pumps.

ANSWER: 065 (1.00)
da.
REFERENCE :
1. VEG’ 19001-C, rev. 11, pg. 2.
VeGP LO-LP-37011-06-C, pg. 11. LO 8.

s
3. SRO Gnly.
4. 000007K30] [4.0/# *

000007K301 (KA 5
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QUESTION:

066 (1.00)

The following plant conditions exist:

L]

Unit 1 is at 100 percent power.

Pressurizer pressure channel selector is in the 455-456 position,
Pressurizar pressure transmitter PT-456 fails to 2390 psig.

Except for the noted transmitter failure, all of the plant controllers
are operatir® normally.

WHICH ONE (1) of the following actions or conditions will STOP further plant
degradation from this event?

a. Operators manually closing PORV PCV-455.
b. Operators manually closing pressurizer spray valve PCV-4558.
[ One (1) pressurizer nressure transmi ‘er, PT-458, sensing 2150
psig.
d. Two (2) Evassurizer pressure transmitters, PT-455 anu PT-457,
sensing 2180 psiy.
ANSWER: 066 (1.00)
d.
REFERENCE :
1. VEGP Logics, Fig. 7.2.1-1, shts. 11, 18, & 19.
2. VEGP LO-LP-60301-06-C, pg. 14.
3. Bott 70 and SRO.
4. 000008A206 [3.3/3.6]

0Ju008A206 .. (KA's)
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QUESTION: 067 (1.00)
The following plant conditions exist:

- Unit 1 is in MODE 3.
- At 1300 hrs RCS temperature is 450 degrees F.

WHICH ONE (1) of the following will cause the MOST severe pressurized thermal
shock to the reactor pressure vessel?

a. At 1330 hrs RCS temperature is 401 degrees F.
b. At 1330 hrs RCS temperature is 499 degrees F.
¢y At '100 hrs RCS temperature is 349 degrees F.
d. At 1400 hrs RCS cemperature is 551 degrees F.

ANSWER: 067 (1.00)
e
REFERENCE ;
1. VEGP LO-LP-16202-03, rev. 3, pp. 7, & 8, LO 3.
2. VEGP 19200-C, rc,. 8, pg. 7.
3. VEGP Technical Specifications 3.4.9.1, & Table 1.2.

4. Both RD and SRO.
5. 000009K308 [3.6/4.1]

000009K308 .. (KA's)
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QUESTION: 068 (1.00)
The following plant conditions exist:

- Unit 1 has tripped from 100 percent power due to low pressurizer
pressure.

~ PORV PCV-456 is open and the biock valve will NOT close.

- Reactor coolant pumps have been stopped.

WHICH ONE (1) of the following explains why natural circulation flow could
stop under these conditions?

a. Steam voids will form in the RCP volutes,
b. Non-condensible gases will fill the reactor head.
B Steam voids will form in the steam generator U-tubes.

d. Non-condensible gases will collect at the steam generator tubre
sheets.

ANSWER: 068 (1.00)
C.
REFERENCE :
. VEGP LO-LP-36101-04-C, pp. 21, 22, 23, 24, & 29, LO ]2.

1
2. Both RO and SRO.
3. 000009K101 [4.2/4.7)

000009K101 ..(KA's)
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QUESTION:

069 (1.00)

The following plant conditions exist:

1

»

-

Unit 2 15 at 100 percent power.
Pressurizer level is increasing.
T-avg is constant.

LTON HX OUT HI PRESS annunciator 1it.
Charging flow is decreasing.

All control systems are in automatic.

WHICH ONE (1) of the following events would cause these conditions?

a.
b.

Cl

ANSWER:

d.

Loss of VCT make up.
Loss of charging flow.
Orifice isolation valve HV-B149B opening.

Letdown pressure control valve PCV-131 closing.

069 (1.00)

REFERENCE :

1. VEGP
2. Both

18007-C, rev. 6, pp. 2, 3, 5, & 11,
RO and SRO.

3. 00C0226011 [3.3/3.6]

0000226011 ..(KA's)

Page 58
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QUESTIOM.

070 (1.00)

WHICH ONE (1) of the fullowing describes why RHR flow is limited when RCS
water level is at mid-nozzle level?

a.

ANSWER:

C.
REFERENCE :

To prevent loss of pump suction due to iow net positive suction
head,

To prevent a pump overcurrent trip due to the low discharge
pressure.

To prevent loss of pump suction due to gas entrainment in the
impeller,

To preveut a pump overspeed trip from runout due to low discharge
pressure.

070 (1.00)

1. VEGP LO-LP-12101-24-C, pg. 67, LO 18c.

2. VEGP 13011-1, rev. 23, po. 2, precaution 2.1.6,
3. EQB HNUM 2369]1, Vogtle 1991-05-31, mudifiec

4. Both RO and SRO.

5. 000025Ki01 [3.9/4.3)

070025K101 . (KA's)
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QUESTION: 071 (1.00)
The fallowing plant conditions exist:

« Unit 1 is at 100 percent power.

- Pressurizer pressure control is in the 455-456 position.

- Pressurizer pressure transmitter PT-455 indicates 2220 psig.
« A1l pressurizer heaters are in automatic,

WHICH ONE (1) of the following describes the expected response of the
pressurizer heaters?

a. Two of three backup heater groups are energized.
b. A1l back . heater groups are energized.
i Proportional heaters group C are full ON.

d. Proportional heaters group C are full OFF,

ANSWER: 071 (1.00)
£
REFERENCE :
1. VEGP LO-LP-16303-09-C, pp. 7, 17, 18, & LO-TP-16303-002, L0 3.

2. SRO Only.
3. N00027A205 [3.2/3.3]

000027A205 ..(KA's)
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QUESTION: C73 (1.00)

WHICH ONE (i) of the following destribes the effects of a lass of compensating
v:!t;ge to intermediate range nuclear instrument N-36 during a reactor
shutdown?

a, N-36 will indicate LOW and the source range detector voltage will
energize.

b. N-36 will indicate HIGH and the source range detector voltage will
energize.

A N-36 will indicate LOW and the source range detector voltage will

NOT energize.

d. N-36 will indicate HIGH and the source range detector voltage will
NOT energize.

ANSWER: 073 (1.00)
d.
REFEREN: " :
1. VEGP LO-LP-17201-07-C, pg. 10, LO 8.

2. Both RO and SRO.
3. 000033A211 [3.1/3.4)

000033A211 ..(KA's)
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QUESTION: 074 (1.00)

WHICH ONE (1) of the following is the reason that the Steam Generator
Atmospheric Relief Valve (ARV) setpoint is changed by procedure in response to
a steam generator tube leak?

a. Provides code-compliance over-pressure protection of the steam
generator during this event.

b. Minimizes the possibility of i(he ARV on the NON-faulted SGs from
actuating and causing a release.

. Provides additioral over-pressure proteciion to the steam
generatir in the event of additional tube tailures.

d. Minimizes the possibility of a re'ease by allowing the maximum
steam generator pressure without 1ifting the safeties.

ANSWER: 074 (1.00)
d.
REFERENCE :
1. VEGP LO-LP-60309-08-u, pg. 12.
Z. EOB HNUM 237'2. Vogtie 1351-06-31, modified.

3. Both RO and 5RO,
4. uN0037K307 [4.2/4.4]

000037K307 . (KA's)
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QUESTION: 075 (1.00)

The following plant conditions exist:

Page 64

- A steam generatnr tube rupture occurred.
< Unit 1 has trippe. and EOPs were properly followed.
- The SRO is cur.ently in VEGP 19031 "ES-3.1, POST-SGTR COOLDOWN USING

BACKFILL."

- At 1310 hrs, cooldown was started and at th:=t time the RCS was at the
minimum temperature for criticality.

WHICH ONE (1) of the foilowina conditions is indicative of an acceptable
cooldown rate according to VEGP 19031,
BACKFILL"?

"£S-3.1, POST-SGTR COOLDOWN USING

a. Hot l1eg instruments read 490 degrees F at 1340 hrs,

b. Cold lTeg instruments read 480 degrees F at 1350 hrs.

£, Hot 129 instruments read 470 degrees F at 1400 hrs.

d. Cold Teg instruments read 460 degrees F at 1410 hrs.

ANSWER: 075 (1.00)

d.

REFERENCE:

Xe
g
. B
4
5

VEGP 19031, rev. 7, rg. 5.

VEGD LO-LP.37312-06-C, ‘pg. 11, 10 4.
VEGP LO-LP-16101-06-C, pg. 16, LO 3.
. Both RO and SRO.

. 000038A136  [4.3/4.5]

07C038A136 ..(KA's)
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QUESTION: 076 (1.00)

WHICH ONE (1) of the following explains why it is important to promptly match
T avg to T-ref during a loss of main feed pump event?

a. To close the steam dumps thereby rcducing steam flow.

b. To reduce RCS temperature thereby increasing the DNBR,

¢, To reduce RCS pressure thereby reducing required feed lin2
pressure.
d. ic close the main feed requlating valves therehy preserving main

feed inventory.

ANSWER: Q76 (1.00)
a,
REFERENCE :
1. VEGP LO-LP-60314-05-C, pp. 6, & 12, LU 5.

2. Both RO and SRO.
3. 002054K304 [4.4/4.6)

00C054K304 .« (KA"s)

QUESTION: 077 (1.00)

WHICH ONE (1) of the following will result from & loss of 125 VDC bus 1AD1?
Assume neither diesel is running.

a. Diesel generator DGIA will start astomatically.
b. Diesel gererator DGIB will start automatically.
. Diesel generator DGIA will mot start from the control room.

d. Diesel generator DGIB will not start from the control room.
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ANSWER: 077 (1..9)
C.
REFERENCE :
1. VEGP 18034-4, rev. 1, ryg. 2.

2. Both RO and 5RO,
3. 000058A203 {3.5/3.9]

0000584203 .«(KA's)

QUESTION: 078 (1.00)
The following plant conditions exist:
- A reactor trip .nas occurred from 130 percent power.
- C$ntainment low range area monitors 1-RE-0002 and 1-RE-0003 are in
alarm.

WHICH ONE (1) of the following describes the cause for these alarms?

a. A steam 1ine break accident has occurred,

b. A loss of reactor coolant accident has occurred.

C. N-16 background ir rontainment has exceeded 10 mrem’hr.

q. alzgﬁrne particulate activity has exceeded 500 micro-curies/cubic

ANSWER: 078 (1.00)
b.
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REFERENCE :
1. VEGP 17102-1, rev. 8, pp. 14, & 25,

2. Both RO and SRO.
3. 0000616005 [3.1/3.3]

000061G00S o (Kh's)

QUESTION: 079 (1.00)
Twe foliowing plant conditions exist:
= Unit 1 has tripped from 10" percent power due to low insiiument air
préssure.
- A1l attempts to restore instrument 2ir have failed.

WHICH ONE (1) of the foilowing is the guiaance and “ne reason found in VEGP
18028, "Loss of Instrument Air," for entering MODE 47

a. Remain in MODE 3 to provide time to restore instrument air,
b. Remain in MODE 3 to ensure that EOP 19000-C (E-0) is complete.
s Coold~wn to M?DE 4 rapidly to reduce total plant’s stored energy.

d. Cooldown to MODE 4 rapidly to reduce release rates through fail-
spen valves.

ANSWER: 079 (1.00)
a.
REFERENCE:
: 3525 lg?fg:géagfgb7¥g: gg: }gl L0 4.

SRO Only.
. 000055K308 [3.7/3.91

2D PO e

000065K308 . (KA"s)
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QUESTIUN: 080

(1.00)

The following plant conditions exist:

- Unit 1 is at 100 percent power,
« Pressurizer level control channel selector i< in the 459/460 position.
« Pressurizer level transmitter LT-459 fails to 45 percent,

WHICH ONE (1) ot the folluwing plant responses occurs FIRST?

a.
b.

L.

ANSWER:

a.
REFERENCE :

Reactor trips on high pressurizer level.
Pressurizer heaters deenergize,
Letdown isolation valve LCV-460 closes.

Rege verative heat exchanger outlet temperature increases.

ngo (1.00)

1. VEGF 16302-06-C pg. 16, LO-TP-16302-007.
2. Both RO and SRO.
3. 000028A202 [3.4/3.8]

000028A202 .. (KA's)
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QUESTION: n81 (1.00)

The following plant conditions exist.

- Unit 1 is in MODE 6.
- Fuel Handling B:ilding Ventilation Isolation has actuated.

WHICH ONE (1) of the following signals could have caused this event?

a. LOW ai. ow in the normal ruel handling bldg HVAC.
b. LOW air flow in the fuel pool area recirculation units.
£ Spent Fuel Pool cooling temperature equals 132 degrees F.

d. Fuel Handlirg Building differential pressure equals 0.30 inches
water gauge,

ANSWER: 081 (1.00)

d.

REFERENCE :

O N B W NS
> - - - -

VEGP Text 24c, rev. 1, pg. 24c-(8.

. VEGP LO-LF-23301-11-C. pg. 10, LO 3.

VEGP LO-LP-25'02-09-C, pg. 17,
EQB HNUM 23656, Vogtle 1991-05-25, modified.
Both RO and SRO.

000036K302 [2.9/3.6]

000036K3u2 .. (KA's)
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QUESTION: 08 (1.00)
WHICH ONE (1) of the following completes the statement?

Interim agprova1 for temporary changes to approved VEGP procedures
is given by the  and is valid for no more than

a. Duty Manager, 7 days.

b. Duty Manager, 14 days.

By Shift Superintendent, 7 days.
d. Shift Superintendent, 14 days.

ANSWER: 083 (1.00)
d.
REFERENCE :

. VEGP LO-LP-63502-04, pa. 7, LO 2c.
. VEGP 0052-C, Section 2.3, pg. 5.
FB HNUM 19187 Vogtle 1990-06-25.
194001A10! [3.3/3.4]

SRO Only,

L R

194001A101] . (KA's)

Page 7]
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QUESTION: 084 (1.00)
WHICH ONE (1) of *he following completes the statement?
1f EOF SUB STEPs are designated with letters, then.....

a. ...they must pe performed in sequence.

b. ...they are IMMEDIATE ACTION steps which must be performed from
memory .

¢ ...they are CONTINUOUS ACTION steps and must b2 monitored

continuously while executing the EOP,

d. ...you cannct continue on to the next sequential step within that
EOP until you satisfactorily complete the designated sub steps.

ANSWER: 084 (1.00)
i
REFERENCE :
1. VEGP LO-LP-37L. o3 C, pp. 5, & 6.

2. 194001A102 [4.1/3.9]
3. SRO Only.

194001A102 . (KA's)



QUESTION: 085

WHICH ONE (1) of the rollowing is the MINIMUM shift crew composition if Unit |
18 in MODE 3 and Unit 2 is in MODE 6 according to Technical Specification

SENIOR REACTOR OPERATOR

1.00)

6.2.2, "Plant Staff"?

B PO e

§S§

a. 1
b. 1
c. 1
d. 1
ANSWER: 085
-5
REFERENCE :

VEGP LO-LP-39217-04-C, pg. 8
EQB HNUM 23718, Vogtle 1981-05-31, modified.

194001A103

. SRO Only.

1940014103

SRO
l

(1.00)

[2.5/3.4)

..(KA's)

RO
2

w N

NLO

2

STA

1
0
)
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QUESTION: 087 (1.00)

WHICH ONE (1) of the following actions may be delegated by the Emergency
Director (ED) during a Site Area Emergercy?

a. Recommending protective actions.
b. Ordering security actions to be initiated.
G Making requcsts for offsite assistance.

d. Approval for exceeding 10CFR20 dose limits,

ANSWER:  0B7 (1.00)
b.
REFERENCE :
1. VEGP LO-LP-40101 15-C, pp. 15, & 16,
2. VEGP 91001-C, rev. 9, pg. 1.
2. VEGP 9100”-C, pg. 1, & 2.
§

. 194001A116 [3.1/4.4]
. SRO Only

194001A116 ..(KA's)
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QUESTION: 088 (1.00)

WHICH ONE (1) of the following describes one requirement at Vogtle for
operations log entries?

a. The last entry for the shift will be "Relieved by ", followed
by the signature of the on-coming person.

b. A late entry must be made within one (1) hour of the time the
event occurred and "Late Entry" or "LE" shall be written next to
the entry time.

r. Action entries shall be noted on the unit status board and
logged when plant conditions allow.

d. Errors in all log entries shall be voided oy a single line and
initialed by the individual voiding the entry.

ANSWER: 088 (1.00)
d.
REFERENCE :
| e o 110

3. 194001A106 3.4/3.4)
4. Bot.. RO and SRO.

194001A106 ..(KA's)
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". J

QUESTION: 089 (1.00)
WHICH ONZ (1) of the following completes the sentence?

Caution Tags are...

\
|
|
1

a. ..+ used for the purpose of personnel protection.
b. .+« used Tor the purpose of protecting plant equipment.
g. «+. vnly valid when reviewed and approved by a Shift
Superintendent.
contaminated.

ANSWER: 089 (1.00)

b.
REFERENCE :

1. YEGP N0304-C, rcv. 21, pp. 28 & 29.

2 1J400k10? 13.7/4.1)
3. SRO Only.

d. ... destroyed by the PZ0 removing the tag if they are nnt
194001K102  ..(KA'S) l
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QUESTION: 090 (1.00)
The following plant conditions ¢ .ist:

- Unit 1 is at 85" power.

- You are the Uni ] RO,

- The BOP operato 1is in the Turbine Building
assisting the 1.0,

- You must leave he control room for about 40 minutes
to assist on a s,..ia task.

WHICH ONE (1) of the following i< the minimum relief requirement in order for
you to leave?

a. A brief walkdown of the control board with a gualitied RD.
b. A full shift turnover to another licensed overator on shift,

e Have the Unit-2 BOP assume Unit-1 RO responsibilities by obtaining
permission from the Unit-]1 USS.

d. A revies of data that has been generated sirce the start of the
shift with an RO know!edgeable of plant conditions.

ANSWER: 090 (1.00)

b.

REFFRENCE :

;e -

. VEGP LO-LP-93504-08, pg. 9.

Vogtle: Exam Bark CL-63, "LO Administrative", Question # 2.13, p. 26.

. VEGP 10004-

C, pg. 3.
194001A108 f3.4/3.4]
Both RO and SRO.

194001A106 .+(KA's)
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QUESTION: 081 (1.00)

WHICH ONE (1) of the fol1ow1n? is the MINIMUM frequency tha* a zone within a
specified area must be patrolled to be considered a continuous fire watch?

a. Once every 10 minutes.
b. Once every 15 minutes,
C Once every 30 minutes,
d. Once every 60 minutes,

ANSWER: 091 (1.00)
| 2.
REFERENCE
1. VEGP LO-LP-43101-07-C, pg. 13.

2. 194701K116 [5.5/4.2)
3. SRO only.

194001K116 v (KA's)

T P N W vap—
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QUESTION: 092 (1.00)
The following situation exist:

- You are the Shift Superintendent at 0230 on a Sunday morning.
- The Unit 1 USS has determined that a clearance is required to be

released on a system,

- The subclearance holder 1s not on site,

WHICH ONE (1) of the following actions is required to enable you to relrase
the subclearance?

ANSWER:

b.

You and the USS Aetermine that the reason for the subclearance is
no longer valid.

The subclearance holder gives you or his department supervisor
permission by phon2,

You and the respensible on-site foreman concur and will be
responsible for notifying the subclearance holder,

The subclearance holder's foreman gives permiss‘on and will be
responsible for notifying the subclearance holder.

092 (1.00)

RETERENCE :

9

o oB e

VEGP
VEGP

LO-LP-63304-12-C, pg. 7, LO 1.
00304-C, rev. 21, po. 6.

B

. EQB HNUM 20602, Vogtie 199C-02-12, mogified.

194001K102 [3.7/4.1]
SRO Only.

194001K102 . (KA's)
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QUESTION: 093 (1.00)

NHICH ONE (1) of the following individuals may supplement the Fire ieam when
necessary?

a. Shift Supervisor.
; b, Reactor Operator.
¢, Outside Area Operator.

d. Balance of Plant Operator.

ANSWER: 093 ().00)
R
REFERENCE :
1. VEGP 10003-C, rev. 13, pg. 2.

2. 194001K116 [3.5/4.2]
3. Both RO and SRO.

| 194000K116  ..(KA's)

N E) -
:
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QUESTION: 094 (1.00)

The following plant conditiens exist:

JUMME om i b ek e B e e e e ke e o A e 4

P L e S ———

Page 82

- A containment entry has been made with reactor power holding al 27%.

- A Contrel Point has MNOT been established.

WHICH ONE (1) of the following represents the plant personnel responsible for;
{1) tracking the names of team members entering containment and (2) ensuring
that all of those who entered have evacuated 1f evacuation were to become

necessary?

a. (1) Unit Shift Supervisor, (2) Unit Shift Supervisor.

b, (1) Unit Shift Supervisor, (2) Health Physics >upervisor,

B4 {1) Health Physics Supervisor, (2) Unit Shift Supervisor.

d. (1) Health Physics Supervisor, (2) Health Physics Supervisor.

ANSWER: 094 (1.00)
a.
REFERENCE :
1. VEGP, 00303-C, pg. 3

2. 194001K105  [3.1/3.4)
3, RO and SRO.

194001K105 ..{KA's)

R RN TEENRR T IE———wy——
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OUESTION: 095 (1.00)

WHICH ONE (1) of the following represents the point at which MODE 2 is entered
from MODE 3 during a reactor startup?

a. Reactor power reaches 1%.
b. K-eff is greater than or equal to 1.0.
C e Tie first control bank rod is taken otf the bottom of the core.

. d. Reactor coolant temperature increases 2 degrees F above the
minimum temperature for criticality.

ANSWER: 095 (1.00)
g,
REFERENCE :
1. VEGP LO-LP-39202-06-C, pg. 11, 21.

2. 194001A106  [3.4/3.4)
3. Both RO and SRO.

194001A106 .. (KA's)

QUESTION: 096 (1.00)

WHICH ONE (1) of the following situations 1s INAPPROPRIATE for marking a
procedure step “N/A"?

a, When the step starts inoperable equipment.

b. When the marked step results in omission of required work.

c. When the step covers eguipment not being tested at the present
time.

d. wWhen the step is not applicable to the present operating
condition.
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ANSWER: 096 (1.00)
b,
REFERENCE :
1. VEGP, Lesson Plan i0-LP-63054-06-C, pg. 8, LO 1b.
VEGP 00054-C, rev. 7, p?. 5.

' 8
3. 194001A102 14.1/3.9
4. Both RO and SRO.

194001A102 . {KA's)

QUESTION: 097 (1.00)

WHICH ONE (1) of the following is the MAXiMUM area temperature in which a
person can perform a task WITHOUT the approval of the Health Physics
Supervisor AND the Unit Shift Supervisor?

o
-

99 degrees F.

o

104 degrees F.
c. 114 degrees F.

(=8

119 degrees F.

~ ANSWER: 097 (1.00)
| d.
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REFERENCE :

1. VEGF LO-LP-63303-01, rev. 1, pg. 15, LO §.
2. 194001K108 [3.5/3.4)
3. Both RO and SRO.

194001K] 08 .. (KA'S)

QUESTTON: 098 (1.00)
WHICH ONE (1) of the following completes the statement?

Emergency maintenance is any activity that...

b.

£

ANSWER:
c.

REFERENCE :

...needs to be performed within 24 hours.
...18 cri*‘cal to the schedule or safety.

...maintains safe shutdown or operating capability.

...1s performed on equipment that could cause a reactor trip

without special precautions being taken.

098 (1.00)

1. VEGP, LO-LP-63350-06-C, pp. 10, & 11,
2. 194001A112 [3.1/4.1)
3. Both RC and SRO.

194001A112 .. (KA'g)
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QUESTION: 099 (1.00)
The following conditions plant exist:

- Unit 1 is at 98 percent power.

VEGP 14980-1, "Diesel Generator (perability Test" is being performed
to satisfy Technical Specification 4.8.1., "AC Sources."”

On the initial :tart attempt, the ciesel failed to attain rated speed
and voltage in the prescribed time 1vame.

This attempt meets the criteria for a valid failure,

Mo corrective action has been taken.

*

&

WHICH ONE (1) of the following indicates the action(s) to be taken by tne S§
in ragard to this surveiliance?

a. Retest the start portion of the lest imcediately after completing
the diesel shutdown portion of the surve llance,

b. Complete the surveillance and allow retesting of the failed
rtion of the surveillance until the number of failures in the
ast 20 starts exceeds four (4).

c. Call the Engineering Support Department and reyiest that they
witness the immediate retest of the start portioh of the

surveillance,
, d. Declare the diesel generator out of service and comply with the
: action statement in T.5. 4.8.]. while initiating a Mointenance
Work Order.

ANSWER: 099 (1.00)
d.

REFERENCE :

2. 3%33 ia‘.'f?lésqﬁﬁioif'w. i

3. 194001A111 [2.8/4.1],
4. SRO only.

, & 12.
94001A110 ([2.9/3.9]

4 194001A111 -+(KA"s)



QUESTION: 100 (1.00)
WHICH ONE (1) of the following radiological conditions requires posting as HOT
SPOT within an RCA?
a. General reading 5 mrem/hr with contact reading of 50 mrem/hr.
b. General reading 15 mrea/hr with contact reading of 200 mrem/hr.
S General reading 50 mrem/hr with contact reading of 300 mrem/hr.
d. General yeading 300 mrem/hr with contact reading of 1.0 Rem/hr,
ANSWER: 100 (1.00)
E
REFERENCE :
1. VEGP 00930-C, rev, 6, py. 2.
2- VEGP LO"LP'6393°) pg- 71 LO l.
3. 194001K103 [2.8/3.4]
4. Both RO and SRO.
194001K103 (KA's)

~ SENIOR REACTOR OPERATOR
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ANSWER KEY

MULTIPLE CHOICE 023 ¢
001 ¢ 024 ¢
02 d 025 a
003 ¢ 026 ¢
008 a or A 027 a
005 b 028 ¢
006 029 b
007 b 030 ¢
008 ¢ 031 b
008 b 032 b
010 b 032 d
011 d 03 b
012 a 035 d
0ls d 036 ¢
0l4 d 037 b
015 ¢ 038 a
016 ¢ 039 b
017 b 040 b
0l8 ¢ 041 b
019 a 042 d
020 d 043 b
021 d 044 b
022 b or 4 045 ¢
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' ANSWER KEY

046 b 069 d
047 . 070 ¢
048 a 071 ¢
048 b 072 d
vie 4 073 d
051 ¢ 07¢ d
052 a 07% d
053 b 076 a
054 b 077 <«
085 d c78 b
056 ¢ 079 a
057 d 080 a
058 ¢ 08 d
059 b 082 a
060 d 083 d
061 084 a
062 b 08% ¢
063 ¢ 086 d
- 064 b 087 b
065 a pgg d
086 d 089 b
I 067 ¢ 090 b
{ 068 ¢ 091 a
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TEST CROSS REFERENCE

SRO Exam

Organized by Question Number

QUESTION

001
002
003
004
005
006
007
008
008
010
011
012
013
n14
018
016
017
018
019
020
021
022
023
024
02%
026
027
028
029
030
03]
032
033
034
035
036
ni7
038
039
040
041
042
P43
044
04¢
046
047
048
049

PWR

VALUE

Dl et e i e e S e e i el el e T e S RS S s R S SRR PR S A
. . a - - . : -

.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00

Reactor

REFERENCE

8000002
8000004
8000005
8000081

23521
8000007
8000009
8000010
8000011
8000034
8000013
8000093
8000014
8000016
8000017
8000018
80001019
8000020
8000024
800002%
8000026
800C027
8000028
8000030
8000G32
8000033
8000035
8000038
8000039
8000040

23655
8000029
8000042
8000043
8000045
8000046
80uC0e/
8000059
8000051
8000052
8000054
8000057
800005¢
8000056
BOOON36
8000058
8000061
8000062
8000043




TEST CROSS REVERENCE

SRO Exam
Organized by Question Number

QUESTION

050
05!
052
083
054
Nss
056
057
058
059
060
061
062
063
064
065
066
067
068
069
079
071
072
073
074
07%
076
077
078
079
080
08]
082
083
084
085
086
087
n8s
089
090
08]
092
na3
094
098
096
097
098

PWR

VALUE

Pt Pt bk Gt s i it ot i St it s (i il ittt et it it it Nt s it (il il et i . i it Yol s il Sl it P i it it G el Gl vt ot Gt il it it
. - - - - .

.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00
.00

Reactor

REFERENCE

8000064
8000065
8000060
8000091
8000068
8000071
8000079
8000069
8000080
8000075
8000074
8000076
8000077
8000078
8000083
8000084
8000085
8000066
8000086
8000088
8000089
8000090
8000092
8000012
8000094
8000095
8000096
8000097
8000100
8000101
8000102
8000103
£000104

19187
8000106
8000107
8000108
8000109
8000111
8000112
8000113
8000114
8000117
8000119
8000120
8000121
8000122
8000123
8000124

Page 2



TEST CROSS REFERENCE

SRO Exam
Organized b
QUESTION  VALUE
099 1.90
100 1.00
100.00

PHR

Reactor

by Question

REFERENCE

8000125
8000126

Number
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TEST CROSS REFERENCE

SRO Exam PWR Reactor
Organized by KA Group

PLANT WIDE GENERICS
QUESTION  VALUE

083 1.00 194001A101
034 1.00 194001A102
096 1.00 194001A)02
086 1.00 194001A)03
085 1.00 194001A102
090 1.00  194001A106
095 1.00 194001A106
088 1.00 194001A106
099 1.00 194001A111
008 1.00 194001A112
087 1.00 194001A116
092 1.00 194001K102
089 1.00 19400'K102
140 1,00 194001K103
094 1.00 194001K105
087 1.00 194001K108
09, 1.00 194001K1146
093 1.00 19400:K11€
PWG Total 18.00
PLANT SYSTEMS
Group |
QUESTION VALUE KA
001 1.00 001050K401
002 1.00 003000K201
004 1.00 003CI0K&i4
006 1.00 004020A303
005 1.00 004020A305
007 1.00 013000A301
008 1.00 ©013000K401
010 1.00 0140006008
009 1.00 0140006012
011 1,00 015000101
012 1.00 015000K103
013 1.00 017020A201
014 1.00 026000A301
015 1.00 056000K]03
016 1.00 059000A306
017 1.00 059000K104
018 1.00 061000K402
019 1.00  071000A202
02¢ 1.00 072000k401
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SRO Exam PWR Reactor
Organized by KA froup

PLANT SYSTEMS

034
03%
036

.00  062000K201
.00 075000K108
.00 0860006007

PS-11 Total 16.00

Group 1
QUESTION VALUE KA
PS-1 To'al 19.00
Group 11
QUESTION VALUE KA
021 1.00 002000K109
023 1.00 006030K403
022 1.00 0C5030K404
024 1.00 01 000A211
026 1.00 01.J00K402
02% 1.00 Cl17000K604
027 1.00 016000K101
028 1.00 029000A30!
029 1.00 033000K401
030 1.00 0340006009
032 1.00 035010A30]
031 1.00 035010K403
033 1.00 039000A302
1
1
1

Group 111

QUESTION VALUE KA
037 1.00  005000K407
038  1.00 041020K417
039  1.00 045010K111
040  1.00 076000K402

PS-111 Total 4.00

PS Total 39.00

E” "2GENCY PLANT EVOLUTIONS

Group 1






SRO ¢&
Organ

EMERGENCY PLANT EVOLUTIONS

Group 11
QUESTION

TEST CRO%S REFERENCE

xXam PWR Reactor

Azed by KA

VALUE KA

078
079

EPE-11 Total
Group 111
QUESTION
080
081
082

£rE-111 Total

EPE Total

Test Total

1,00 000061G005
1.00 000065K208

VALUE KA

1.00 000028A202
1.00 000036K302
1.00 000056A247

......

......

100.00

Group

Puige 7
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ENCLOSURE 3

SIMULATOR FIDELITY REPORT

Facility Licensee: Georgia Power Company
Faciliity Docket Nos.: §0-424 and 50-424

Operating Tests Administered On: December 10 - 12, 1991

This form i® to be used only to report observations. These
observations do not constitute, in amd of themselves, audit or
inspection findings and are not, without further verification and
review, indicative of non-com .iance with 10 CFR §5.45(b). These
observations do not affect NRC certification or approval of the
#imulation faciiity other than to provide information which may
be used in future evaluitions. No licensee action ie required in
response to these cobse:vations.

During the conduct of the simulator portion of the operating
tests, the following iteams were observed .

RESCRIPTION

There were no discrepancies noted during the exams.




